T 305 EE £ £ IR
HEERS sk HE4A A | B IR | meas| masn| SRR51| 55R92| 52 R93| 5RR%5| s3R6| SRR 7| BR8] SR RT0| sarsio] sp 1) sgra2] sarsia) sr9ia
S310101[4 W ER I Tk 5 B | 3[82]73 |411]4.06]3.10[2.89 [3.69 [4.15[3.93 |3.94 |4.08 |3.96 |3.89 |4.51 [4.23
S310102 fZEFEHIF HHE ET A 2| 42| 41 14.374.30[3.05|3.41 |3.53 |4.29 |4.32 |4.37 |4.32 |4.05 [4.41 |4.39 |4.49
S310103| #i T £ 8B HHE ET K| 1] 46 | 41 |3.98 |3.95[4.32 |3.55 [4.20 |3.85 |4.05 [3.85 |3.27 |4.05 [3.71 |4.73 |4.15
S310104 #i T £ E8B HHE ET x| 3| 50 | 46 |3.96 |3.96 [4.39 |3.56 [4.30 |3.91 |4.00 [3.98 |3.50 |4.00 [3.74 |4.83 |4.07
S310105| HEEE L =1 —HR Bl 2| 76|68 |[390]387]3.10[2.69 [3.81[3.16 [3.94 |3.66 |3.37 |3.40 |3.24 |4.59 [3.97
S310106| T HE I RUEE IRE ER A 1]109[103 |4.08 |3.93 [3.52 |3.15 |3.92 |3.86 |3.62 |3.45 |3.58 |3.82 [3.41 |4.41 |3.79
S310107| EERETElE BiE & A 2| 81|56 |3.963.91[2.32]2.883.29 |3.57 |4.05 [4.07 |4.05 |4.00 [3.91 |4.32 |3.98
S310108 FH AL T2 FH D B | 5| 47| 41 |422]4.00]1.85[3.39 [3.56 [4.12 |4.41 |4.15 |4.28 |4.32 [4.27 [4.41 |4.44
S310109 4N T2 1 AR JiE B | 3|66 |43 |356]323]242[2.30[3.35([3.14[3.563.3713.88 |3.57 |3.28 |4.63 [3.63
S310110/ 44N T2 1 AR JiE Bl 4] 42|25 |368]3.60]2.72[2.52[3.40 [3.44[3.76 |3.52 |4.08 |3.68 |3.67 |4.44 [3.96
S0 1| ERE Ea)l flz | B 1 [165[129 [3.96 |3.92 |2.21 |2.75 [2.80 [3.64 [3.70 |3.72 |3.91 |3.61 [3.78 [4.42 [3.71
S0 AZE I RUEE | M BT A 1]114[106 |3.79 |3.81 [3.42 |2.94 |3.82 |3.69 |3.80 |3.40 |3.54 |3.69 [3.36 |4.40 |3.96
S310113 i ER T TR BHF Bl 4] 83|81 [412]4.07]3.02]2.95[3.85[3.58 [3.99 |3.91 |4.06 |4.12 |3.99 |4.58 [4.16
S310114 ¥ T £ EERA Ek BEF K| 1| 49 | 49 1414 14.29 [4.67 13.92 |4.53 |4.18 |4.22 |4.06 |3.45 |4.27 [4.04 |4.94 |4.35
S$310115 i T £ EERA Ek BEF x| 3| 47 | 45 |3.91 [4.07 [4.78 |4.00 [4.31 |3.91 |3.98 [3.91 |2.80 |4.07 [3.73 |4.84 | 3.98
S310116| R EEENF FEl X A 3| 60|55 |4314.36 [2.87 |3.52 [3.82 |3.91 |4.69 [4.65 |4.33 |4.25 [4.22 |4.38 | 4.64
S310117|= 2 y—)L BIE gn Bl 2| 7367 [400]392]2.67[2.97[3.55[3.50[4.05]3.8313.924.17 [3.71 [4.39 [4.06
S3101 18R ET &I I BIE R x| 1 ]103[ 70 |3.81|3.84[3.99 |3.43 [3.81 [3.91 |3.90 [3.46 |3.32 |3.81 [3.61 |4.86 |3.89
S3101 19 MR ET A I BIE R x| 3| 89 |31 |3.423.35[4.29 |13.65 [4.33 |3.65 |3.32 [2.87 |2.90 |3.74 [3.23 |4.84 | 3.52
S310120| %@ AT Ls WHE i K| 4] 36|22 [405([3.95[250]3.09]3.64|3.77 [4.18 [4.36 [4.41 [3.73 |4.14 |4.82 |4.45
53101212 2T L. &l {4 LE =25 Bl 4] 63|56 [420]4.11]250](2.61[3.65[3.52[4.024.36 |4.11]3.96 |3.76 |4.16 [4.07
S310122 Ok T2 PE —Hk B | 3| 61|43 |421]4.30]2.93|3.56 [3.98 [3.934.30 |4.37 |4.16 |4.28 [4.21 [4.44 |4.40
S310123| R EEHE i B | 1]60]55 [411]3.91]2.36[2.91[3.22[3.84[4.113.874.13]3.96 |3.84 [4.27 [4.16
S399102| B T AIE D ERE2 (M) | Tk B | 1]209]194 [4.03[3.90 [2.35|2.62 |3.16 |3.32 [3.52 |3.55 [3.46 |3.85 |3.75 |4.75 | 3.66
S410101|# A=t 1 Rk 5% B | 2 [137[121 |4.05]3.88 |2.55 |2.98 |3.46 [3.49 [3.75 |3.60 |3.65 |3.50 |3.37 |4.45 [3.93
S410102| i iR#AR Rk 5% B | 3| 67|54 |406]4.00]2.67[3.11[3.33[3.984.15]4.11 |4.11 [4.02 [3.96 [4.48 [4.20
S410103| N FHERETHE Tk 5 x| 1] 23|20 |3.853.90[4.35]3.90 [4.11 |3.65 |4.05 [3.85 |3.25 |4.10 [3.70 |4.85 |4.20
S410104fnZEFHERETRE Tk 5 x| 3| 19 [ 18 |3.943.89[3.94 |3.67 [4.17 |3.94 |13.94 [4.06 |3.28 |4.06 [3.67 |4.35 |4.00
S410105( & EEH AEE EE| AL 1]102] 95 |4.31]4.18 [3.05 [2.73 [3.36 |3.33 14.29 |4.04 [3.94 [4.25 [4.09 [4.87 |4.43
S410106| B EEH AEHE EE| AL 3]104]101 |418]4.16 [3.11 [3.03 [3.68 [3.71 |4.25 |4.01 |3.84 [4.13 [4.15 [4.85 |4.44
S410107|8k s 5719 28T |EA) =t | B[ 1 | 105] 97 |4.16 |4.10 [2.86 [3.16 [3.91 |3.82 |3.82 |3.87 [3.63 [3.80 [3.89 |4.61 |4.23
S410108 3k TF 571w 2 BT |EA) =t | B[ 3 | 104] 94 |4.01(3.89 [3.13[2.74 [3.70 |3.30 | 3.56 |3.50 |3.56 |3.54 [3.69 [4.57 |4.03
S410110 M1 RE F K| 3| 26 | 25 |4.043.92[3.04 |3.20 [3.64 |3.76 |4.40 [4.32 |4.16 |4.20 [4.12 |4.64 |4.48
SH0T1 M ALEERET AKX BiE & K| 1] 45|39 |4.114.13[4.59 |3.64 [3.97 |4.15 |4.05 [3.97 |3.56 |4.05 [3.92 |4.82 |4.00
SH0T14mALEERET AKX BiE & K| 8| 47 [ 37 1414 14.24 [4.2213.73 |4.14 |4.22 |4.22 |3.91 |3.50 |4.00 [4.06 |4.78 |4.25
S410115[$IEI T2 I WE 13 B | 1 [147[134 413412 |2.87 |2.84 [3.49 [3.64 [4.04 |4.00 |4.03 |4.03 |3.96 [4.20 [4.13
S410116|ZHAI T2 HE 1y Bl 3| 75|67 [403]398]2.47(2.62[3.11[3.17/3.583.6713.68 |3.47 [3.35 [4.14 [3.71
S410117|BEIL DY B EE B | 1] 40|30 |433]4.33]2.60[3.24 [3.31 [4.10 |4.47 |4.43 |4.27 |4.27 [4.20 [4.10 |4.40
S410118 HENEERET K B & K| 1] 27 | 24 14.00 4.08 [4.63 |4.00 |4.38 |4.04 |4.08 [4.17 |3.46 |4.13 [3.88 |4.67 |4.17
S410119 HENEERET K B & | 3| 3330 |403]4.03]4.50[3.70 [4.37 [4.17 4.133.93 |3.07 [4.07 [3.93 [4.77 |4.30
S4101200 v ) 7T H1 ES [Ea)l #z | Bl 4| 97| 35 |41714.06[2.26 [2.71 [2.94 |3.94 |3.83 |4.00 [4.11 [3.94 [4.14 |4.63 |4.06
S410121[F U7 T HA> Ea)l flz | B| 5 [205(142 |[3.86 |3.73|2.11 |2.25 [3.08 [3.18 [3.44 |3.47 |3.51 |3.51 |3.37 |4.67 [3.18
s41012 ERESRE EI K Bl 2|96 |77 |431]4.35]2.86[3.14 [3.52 [3.96 |4.62 |4.62 |4.32 [4.32 [4.12 [4.40 |4.58
S410123 M 1 i X K| 2| 46 | 34 14.154.33[2.79 |2.82 |3.45 |3.53 |4.62 [4.26 |4.32 |4.24 [4.00 |4.53 |4.47
Sa10124 EET2HRESE [T £k k| 3] 38|36 [431[411[3.00]3.14]3.4713.69[4.33 [4.33 [4.31 [4.11|4.36 |4.86 |4.56
S410125 & RER AE ne 1y B 1] 24 [ 17 1441 4.29 [2.71 |13.00 |3.47 |4.24 |4.29 |3.94 |4.24 |4.35 [3.94 |4.35 |4.41
S410126| % & T2 Wi 3 K| 3] 84|54 [406[3.79[2.04]2.24]2.76 |3.28 |3.52 [3.67 [3.80 [3.50 |3.65 |4.59 |3.69
S410127|BS-EF I ¥ WE —B B | 5| 24|15 [413]4.20(3.00[3.33 [3.60 [3.60 [4.27 |4.27 |4.07 |4.40 [4.27 [4.60 |4.40
S410128 AHPO=H B WiE —H x| 1] 92|87 |4.013.97[3.55]3.33 [4.00 |3.75 |3.95 [3.86 |3.87 |4.05 [4.05 |4.85 |4.09
S410129 AHFO=H R EE WE —B | 3| 88|83 |424]4.15]3.86(3.36 [4.11 [3.85 [3.94 [4.00 |3.70 |4.05 |4.18 |4.80 [4.29
S410130/{zEA T Wil 135 B | 4| 54|48 4113981273 (3.13[3.73[3.73 [4.13|4.02 |4.17 |3.71 |4.04 [4.15 [4.21




F 5k 304 EE £ 1 EREFIZH
HEERS sk HE4A A | B IR | meas| masn| SRR51| 55R92| 52 R93| 5RR%5| s3R6| SRR 7| BR8] SR RT0| sarsio] sp 1) sgra2] sarsia) sr9ia
S320101| TR JLEZEEH(S) BE BB x| 2] 2 | 2 |450]5.00]2.00 [4.00 [4.00 [5.00 |5.00 |5.00 |4.50 |5.00 [4.50 [5.00 |5.00
S320102 £ FEE T2 RIES S5 e £ | 3] 32|28 [421[404(271]293]3.2913.32 [4.11 [3.96 [3.41 [3.71 |3.93 |4.54 |4.07
S320103 BEXEFIFEERI |AE E— A 1] 43|41 14174.20[4.83]3.82 [4.07 |4.15]3.93 [3.80 |2.98 |3.80 [3.98 |4.93 |4.15
S320104 ES 1 BE B— Al 1]60]52 |402[402]2.94|3.42[3.7713.85|3.96 |3.83 |4.13 [3.87 |3.77 |4.77 [4.16
S320105|EREFIFEER T Bk & A 1] 46 | 42 1412 4.00[4.21 |3.14 |3.63 |3.88 |3.79 [3.76 |3.57 | 3.86 [3.90 |4.93 |4.07
S320106| BERERZ I FiE & h| 3|55 44 |4.34]4.30]3.05[3.77 [3.95 [4.32 [4.34 |4.30 |4.34 |4.23 |4.14 |452 [4.39
S320107|EF MK I KiF B} | 1| 5236 [303]3.11(3.31[2.83[4.17 [2.61]3.082.332.72 [3.08 [2.69 [4.72 [2.94
S320108| ES MRS T Hik B x| 3| 60 |55 |358|3.55[2.732.91 [3.51[3.45]3.42 [3.09 |3.36 |3.55 [3.07 |4.65 |3.36
S320109 ESHE I Tk thed A 1| 43|38 |4.394.42[2.95|3.49 |3.61 |4.42 |4.65 |4.37 |4.32 |4.34 [4.42 |4.34 | 453
S320110lEsErreuEsn ) |/MEE #im | B 2| 38 [ 28 |429 422 (2.86 |3.11 [4.04 |4.36 |4.46 [4.21 |4.11 |4.04 [4.25 |4.82 |4.29
S32011 2 IEEHRESIE ®EE = £ 1] 41 )39 [436[4.292.08]3.36 |3.49 |4.26 [4.69 [4.38 [4.44 |4.46 | 4.26 |4.69 |4.51
S320113BERHF I INL 3 B | 1| 47|47 |445]4.4713.40|3.36 [3.83 [3.96 [3.91 [4.04 |4.15 |4.06 |4.30 |4.83 [4.43
S320114EFEK I N B x| 1] 10| 8 |488]4.88|3.25(4.25[450[4.88[4.754.754.75 |4.75 |4.00 |4.63 [4.63
S320115|EHHEETE £k IERh h| 2|56 |44 |3.27]3.16 |2.52 [2.61 [3.20 [3.12 |2.84 |2.50 |3.40 [3.21 [3.09 [4.63 |3.14
S3201 16§l T EIK BEER A| 1] 6457 [419]4.14]2.77]3.193.82 [3.95 [4.37 [4.18 |4.19 |4.13 |3.93 |4.45 [4.23
S0 BREFIFEERIT iE/K HME K| 1] 34|34 [435]4.26|4.71 [3.47 |4.50 |4.03 [4.38 |3.94 |2.59 [4.21 |3.53 |4.82 [4.12
$320118a F1—4L 2T A |B|l &— Bl 2| 35|23 |387]3.83]252[2.70[3.13 [4.04 [4.00 [4.04 |4.22 |3.78 |3.96 |4.48 [4.23
$3201 19§l T2 (S) FEl BT B | 3| 25| 24 |408]4.08|2.75(3.33 [3.83 [3.91 [4.00 [4.25 |4.17 |4.04 |3.91 [4.75 [4.13
$320120aVEa—4L RT A |l &— | 2| 58|38 |424]4.16]2.81[2.92 357 [3.79 [4.03 |4.03 |4.18 |3.79 [4.11 [4.32 [4.11
s320121|ORwkT4/02(S) ||l &— w1 3] 1] 1 |500]500]3.00|4.00[1.00 [5.005.00]5.00|5.00 |5.00 [4.00 [3.00 |5.00
S320122 DAY L REELATL|AT S A| 3] 68|63 [415]4.00]2.75]3.05[3.48 [3.61 [3.98 [3.85 |3.97 |3.82 |3.53 |4.52 [3.92
S320123| BRRE I hg B x| 3| 64 |61 |4.024.05[2.66|2.90 [3.66 |4.07 |4.03 [4.02 |4.10 |4.07 [3.80 |4.45 |4.14
S20124BREFIFEERI |thff #th K| 1] 37|36 [431]429]4.71(3.66 |4.11]4.37 [4.29 |4.1413.63 [4.32 |4.09 |4.94 [4.23
$320125(FEwWH X (S) B —z2 x| 38| 3| 3 |467467[1.67]4.333.33[3.3314.33 [4.67 |4.67 |4.33 [4.67 |4.67 |4.67
S320126| EF MK I o fnEg d| 1 [ 17 | 14 |4.43]14.4313.143.50 [3.79 [4.64 [4.43 |4.29 |4.43 |4.36 |3.79 |4.64 [4.36
S320127|BRBEIYF Wi = K| 1] 70 | 43 14.07|3.93 [2.42 |2.98 |3.37 |3.70 |4.00 [4.00 |4.05 | 3.65 [3.70 |4.51 |4.14
S399105| B T AIEDER2 (BR) (B & A 1]133[120 [4.26 [4.14|2.67 |2.86 |3.37 [3.72 [3.89 [3.87 |3.86 |4.17 |4.17 |4.68 [3.99
S399106| g xaIEDRR2 (5) (BS) (B & A| 1] 44|34 [400]3.88]2.64]2.85(3.61[3.39 [3.69 [3.73|3.82 |3.97 |4.18 |4.85 [3.88
S420101|BEREF I = SF B | 1] 46|33 |421]421]3.18(3.39 [3.76 [4.00 [4.09 |3.97 |4.00 |3.82 |4.09 |4.42 [4.27
S420102| EI R BRI A JLF «| 3] 10| 9 |433]4.25]3.00(3.22 356 [4.33[4.22 [4.11|4.11|4.22 |4.22 |4.67 [4.33
S420103| EI R BRI A JLF | 4] 4| 3 |467]467]3.00[4.00[4.33[4.33[4.674.33]4.67]4.67]4.00[2.67 [4.33
S420104 EXEFIFEERI |AE E— A | 1| 43|40 |4.034.15[4.83]3.40 [4.13 |3.75 |3.48 [3.33 |2.50 | 3.78 [3.78 |4.90 | 3.80
S420105| BRI I BE B— d| 1] 5245 |424]4.16]2.96 [3.09 [3.64 [3.89 [4.02 |3.89 |4.00 |4.00 |4.04 [4.73 [4.22
S420106|EREFIFEER T Bk & A | 1| 44 |33 |4.36 |4.48 |4.61 |3.73 [4.30 |4.12 |4.15 [3.97 |3.33 | 3.94 [4.09 |4.88 |4.24
S420107@15:%3R 28 nE x| 3| 69 | 40 |4.24 |4.24 [2.47 |2.61 |2.86 |3.42 |4.00 [3.89 |4.08 |4.08 [3.61 |4.16 |3.97
S420108| BRI I KiF R | 1] 87|77 419]3.94(3.00 [3.26 [3.68 [4.07 [3.92 |3.82 |3.92 [3.76 [3.79 [4.17 |4.04
S420109 EREFRET(S) KiF R | 1] 38|38 [3.92[3.92(3.84]3.89 451 |3.58[3.95[3.53 [3.55 [4.39 |3.97 |4.50 |4.27
S420110 BES B FtA I Tk thed A | 1]105] 91 |4.45|4.44 [2.75 |13.04 |3.43 |4.42 |4.49 [4.37 |4.41 |4.31 [4.35 |4.46 |4.44
SA201 | BEXEFIFERNV | Tk thid K| 3| 44| 43 [4.234.26 |14.63 [3.62 |4.31 |4.29 [4.31 |4.07 |3.76 [4.31 |3.98 |4.79 [4.19
S420112lBERHZF I 25 % B | 1| 44|38 |426]4.22]2.89[2.92[3.29 [3.89 [4.03 |3.76 |4.24 |3.55 [4.24 [4.68 |4.24
S420114F4HVEENE  H#E 7 | M| 2| 31 ]| 16 |4.19[4.31[2.63[2.69 [3.06 |4.31 |4.38 |3.88 [4.19 [4.00 [3.63 [4.50 | 3.81
S420117|ERISA(S) RO E— B 3| 11|11 |418]4.27]2.64 |3.45[3.36 [3.45 |4.27 |4.09 |4.36 [4.09 [3.91 [4.64 |4.18
S420118 L BIRT/NARITE(S) iEK Hi1E x| 38| 15 | 15 |4.47 |4.47 [3.00 |3.87 [4.40 |4.60 |4.73 [4.60 |4.60 |4.67 [4.47 |4.73 |4.50
S420119 FBIRATNARAITE 35K HiE x| 4| 47 | 38 14.39 4.32 [3.05 |13.19 |3.68 |4.58 |4.42 |4.18 |4.29 |4.45 [3.71 |4.66 |4.41
S420120 B EFITFEERIT 55K HME K| 1] 45| 43 [4.334.26 |14.70 [3.81 |4.47 |4.35 [4.30 |4.19 |3.12 [4.26 |4.05 |4.81 [4.40
S420121|BREFIFERN |l 5— K| 1] 41| 34 (424432447 [4.06 |4.47 |4.29 [4.41 |4.18 |13.88 [4.26 |4.03 |4.82 [4.35
S420122| BRER TS EIEEEN Bl 1[33]29 [410]4.03]3.103.28 [3.34 [3.79 [3.90 |3.86 |3.90 |3.83 |3.86 [4.52 [4.21
S420123 ERHFEE B8 %58 A| 1] 46 |42 [410]4.14]352]3.10 |3.57 |3.83 [3.88 [3.98 |3.76 |3.81 |3.83 |4.76 [4.14
S420124 X v Y7 TFHA(S) |HAS &EA B | 5| 44| 44 |384]3.75]2.142.98 [2.91 [3.52 [3.84 |3.77 |3.80 |3.39 |3.82 |4.36 [3.72
S420126|FIERMHFE D (S) |EH EF A 1] 4241 (429428 2.61]3.59(3.98 [4.41 [4.29 [4.39 |4.40 |4.15 |4.29 |4.59 [4.44
S420127| R MIMXEAT |EH 58 A| 3] 6 | 3 [433]4.33]3.00]3.67 [4.00 [4.00 [4.00 [4.00 |4.00 |4.00 |3.67 |3.33 [4.33
S420128l EREFEHA 1 hFg Fh B | 36759 [412]3.92]2.75(3.02[3.32 [3.97 [3.97 [4.07 |4.14 |4.00 |3.81 |3.84 [4.05
S420129BREFIFEERI |thff ¥th K| 1] 39 ] 37 [462]4.56|4.54[4.00|4.24 |4.46 [4.46 |4.35 |4.14 |4.43 |4.35 |4.84 |4.61
S420132 €34 —)L oE | 5 [110[108 |4.29 |4.22 |2.57 |3.46 |3.60 [3.98 [4.33 |4.31 |4.21 |4.37 |4.19 |4.69 [4.46
S420133 34 —)L(S) oE h| 5| 38| 34 |426]4.1812.65[3.74 [4.12 [4.18 |4.29 |4.32 |4.32 [4.29 [4.20 [4.88 |4.44
S420135|{EHBIERVET—Y B —2 B | 3| 16|13 |4.31]4.31]2.31(3.67[3.33[4.23[4.31 |4.23|4.15|4.08 |4.15 [4.46 [4.31
S420136| X v T T HAL Bk K B | 5[129] 94 |3.35]3.34 |2.21 |2.07 |2.53 [3.35 [3.54 |2.64 |2.85 |3.34 |2.80 |4.55 [2.65
S420137|EIRR IR I BE X | 1] 63|57 |411]3.96(3.46 [3.18 [3.70 [3.58 |3.75 |3.58 |3.72 |3.82 [3.66 [4.40 |3.88
S420138| ERE S FEE 1 BEH #x AR| 3| 45|43 |433[4.16 |2.98 |2.74 [3.65 |3.88 |4.02 |3.16 |3.84 [3.74 |3.07 |4.67 [3.83
S420139RBT4PA/LEIE |[ILUE F h| 3| 24|23 |387]3.96 (257 |[2.83[2.87 [3.70|3.95 |4.00 |3.83 |3.74 [3.83 [4.39 |4.04
S420140 R BT4P2/LEIK  |[ILE F x| 4] 3513 [4.00]4.08]2.31[2.92 [3.08 [3.77 [4.31 |3.85 |3.85 |3.77 |3.69 |4.69 [4.15




T 305 EE £ £ T RITZR
HEERS sk HE4A A | B IR | meas| masn| SRR51| 55R92| 52 R93| 5RR%5| s3R6| SRR 7| BR8] SR RT0| sarsio] sp 1) sgra2] sarsia) sr9ia
S330101| + BEE E F— K| 1] 24| 23 [3.87[3.64 [2.433.04 |3.45 |3.65 [3.87 [3.91 [3.83 [4.00 |4.00 |4.52 |3.96
S330102 48 =88 FIER = k| 1] 14] 14 [4.07[4.08 [2.93|3.43|3.64 |4.29 |3.86 |3.86 [3.71 [3.79 |4.14 |4.71 |4.00
$330103kE2RUEE 1 32 /A R x| 2] 2| 2 |450]4.50](3.00|2.00 [2.50 [4.50 |4.50 |4.50 |4.00 |4.50 [3.50 [3.50 [4.50
$330104| 7k T 2E& A R | 1] 16] 13 [4.46 [4.31[3.38 [3.69 |3.92 |4.31 |4.25 [4.08 [4.00 [4.08 |4.00 |4.69 |4.54
S330105|#h iz T = ] Bl 1] 17/ 14 |4.36 |4.36 |2.79 |3.15 [4.07 [3.93 |4.57 |4.43 |4.36 |4.50 [4.21 [4.29 |4.50
S330106| £ FEET2ERIES | [5E B| 5| 10/ 5 |4.80]4.80(3.20 [4.20 [3.60 [4.00 |4.60 |4.60 |4.60 |4.40 [4.60 [4.00 |4.60
S330107 ;&R EER (S) gk (5 | 1] 11] 11 [455[4.45[3.09 [4.09 |4.00 |4.27 |4.36 [4.45 [4.36 |4.45 |4.18 |4.64 |4.45
S330108|#&E T JIHF & | 1| 28] 19 |453]453|3.21 [3.84 [4.00 [4.63 [4.47 |4.47 |4.63 |4.32 |4.47 |4.16 [4.63
S330109#&:E T (S) JIHF & S« | 2| 29| 27 |456]4.703.30 |3.85 [4.31 [4.70 [4.67 |4.59 |4.59 |4.41 |4.52 |4.48 [4.63
$330110] + AR I kg B0 | 3| 64| 48 |4.174.06 |3.35 [3.96 [4.08 [4.08 [4.23 |3.96 |3.92 |4.02 [4.13 [4.71 [4.21
S3M[BENZRWEE I [EH AE A | 3| 137[112 |3.92 |3.66 [2.93 |2.44 |3.27 |3.56 |3.48 [3.27 |3.39 |3.19 [3.10 |4.67 | 3.56
S330112#EHERGEE I (S) [ZH FE | 1] 69] 62 |4.354.27 |3.06 [3.15 [4.21 [4.05 |4.05 |4.02 |4.05 |3.82 [3.97 [4.71 |4.34
S330113 A% I A 2ER B | 2| 151[120 |4.18 |4.13 |2.66 |3.07 |3.51 [3.98 [3.94 |4.01 |4.04 |3.93 |4.05 [4.49 [4.16
S330114JE—bt U5 i £ A 3| 12[ 10 |4.40 [4.00 [2.40 |3.40 [3.70 |3.90 |4.40 [4.60 |4.60 |4.60 [4.40 |3.40 |4.50
S330115[ A E=E | A 2ER | 1| 64| 63 |4.354.19|2.75 [3.49 [3.73 [4.02 [4.17 |3.94 |3.95 |4.03 |4.06 [4.71 [4.21
S330116| AIE=E | A 2ER | 3] 77 73 |4.32 1421 |2.93 |3.64 [4.15 [4.12 |4.25 |4.22 |4.25 |4.33 [4.33 [4.58 |4.48
S330117| T RAH 2 BAR —1 B | 3| 163]160 |4.28 |4.09 |2.74 [2.98 [3.33 [3.96 |3.85 |3.71 |3.99 [3.79 [3.68 [4.61 |3.90
S330118a> 41 —REE Bk —1 | 1] 21| 18 [4.50 [4.39 [3.06 |3.33 |4.00 |4.22 [4.33 [4.39 [4.28 |4.39 |4.33 |4.50 |4.39
S330119[#HE T BE E— Bl 3 4/ 1 [3.00]3.00]1.00|3.00[3.00 [5.005.00]5.00|5.00 |5.00 [4.00 [2.00 |[4.00
S330120[#:E T2 (S) BE E— B | 4] 19] 17 |482]4.82]3.00(3.94 |4.18 [4.82 [4.88 |4.82 |4.88 |4.76 |4.82 |4.00 [4.82
S330121|I815EER (S) BiE £ Kl 1 7] 7 14431443 [3.29 (429 [4.14 1414429 |4.29 [4.29 [4.29 [4.57 |4.86 |4.29
S330122| 7k TEER (S) bkt &8 | 1] 10] 10 [4.90 [4.90 [4.10 [4.50 |4.70 |4.70 |4.80 [4.70 [4.70 [4.80 |4.60 |4.80 |4.80
S330123| iz T =4 (S) FE {ath B | 2| 29|27 |4.44]4.41]3.04 404 [4.22 437 462 |4.37 1450 |4.37 |4.44 |4.56 [4.59
S330124 + EEE& (S) FE Bt K| 1 8| 7 14.86(4.71[3.29 [4.43 |4.86 |4.67 |4.86 |4.71 |4.71 |4.86 [4.43 |5.00 |4.86
$330125 B iR EER T4t fE—8R | K| 1] 31| 27 |4.44 |4.3712.96 |3.81 |4.15 |4.33 [4.56 |4.30 |4.33 [4.44 |4.37 |4.78 | 4.63
S330126| ERBAIYF BIE IFfE A| 4 4] 4 |5.00/5.00[3.75|5.00 [5.00 |5.00 |5.00 [5.00 |5.00 |5.00 [5.00 |4.75 |5.00
S330127|a> o) — g kO FE B | 4] 14| 10 |4.304.30 |2.50 |3.50 [3.40 [4.10 |4.30 |4.40 |4.30 [4.30 [4.00 [3.60 [4.20
S330128) + ARHBK I (S) [kO FiE x| 3| 63/ 60 |4.40]4.41]3.78 |3.97 [4.35 [4.13 [4.32 |4.20 |4.18 |4.33 |4.33 |4.65 [4.46
$330129|45:ERER (S) KO FE Kl 1 7] 6 4671483 [3.67[3.17[3.67|4.67|4.674.67 |4.17 450 [4.50 [4.67 |5.00
S330130[ /KB R{L AT L (S) |75 H BARE | 1] 12| 12 |4.4214.33|2.58 |3.17 |3.50 [3.17 [4.67 |4.75 |4.25 |4.25 |4.08 |4.17 [4.25
S330131|/KIBtE#R LS AT L |ZRH BARE | 2| 55|47 404394257 [3.26 [3.51 [3.61 [4.04 |4.09 |4.09 |4.02 [3.83 [4.40 [4.11
S330132 1815k ZZE LR K| 1] 27| 26 [4.31[4.36[3.693.81|4.15|4.12 |4.31 [4.27 [4.15 [4.27 |4.23 |4.77 |4.38
$330133 + A2 (S) o = B | 3| 59|54 |435]4.35]2.93(3.54[3.76 [4.30 [4.37 |4.41 |4.31 |4.28 |4.28 |4.72 [4.37
S330134 t ATOszoREE(S) [luAa & B | 4| 59|55 |4.26]4.24]2.62[3.25[3.64 [3.94 [4.09 |4.05|4.18 |4.20 |4.31 |4.60 [4.35
$330135(a> 9 —hRER(S) (WO & K| 1] 19| 18 [4.44 (428 [3.53 |4.11 |4.24 |4.39 |4.33 [4.33 [4.28 [4.33 |4.39 |4.72 |4.39
S330136| + AR T EER IF | 3| 66/ 51 |3.82]3.67(3.16[3.37[3.98 [3.733.76 |3.75 |3.54 |3.75 [3.69 [4.71 |3.84
S399101| BT AR Em2 (T A) |FiEE E— A| 1] 159[152 [4.33 [4.24 |2.58 |2.66 |3.42 [3.83 [3.99 [4.01 |3.99 |4.13 |4.20 |4.81 [4.18
S399146| @ TalEDER2(S) (£ 4) |JESR IE A| 1] 58] 57 [4.13]4.05]2.89 |2.98 |3.57 [3.47 [3.67 [3.67 |3.71 |4.00 |4.13 |4.65 [3.79
S430101[RIE=2 1 (S) =1 Eh x| 3] 67/ 62 |3.85]3.85|2.44 |2.60 [3.23 [3.55 [3.35 |3.40 |3.76 |3.47 |3.73 |4.77 [3.89
S430102| t B AR UES 1 (S) |[fiE F— B | 1| 65 61 [423]4.12]3.15(3.19 [4.00 [4.15 [4.13 |4.07 |4.15|3.95 |4.13 |4.61 [4.36
S430103 t AT 2EBRRUED T |FIE F— B | 3| 64|59 |431]4.12]2.88[2.73 [3.55 [3.98 |3.95 |3.93 |4.07 |3.56 [4.08 [4.58 [4.34
S430104 £ K¥FIV UE F— | 5| 133/104 [4.08 |3.99 |2.34 |3.33 [3.42 [3.70 [3.89 |3.84 |3.95 |3.87 |3.98 |4.43 [4.03
$430105| £ K¥F3VI FhZE E— |zot| 9| 136]130 [4.45 [4.47 [3.61 |4.41 |4.45 |4.48 |4.55 [4.48 [4.46 |4.52 |4.50 |4.76 |4.69
S430106| t AT 2EREUES DT |B8F 29 B | 3| 42| 41 |4.44]42912.93[3.17 [3.54 [4.34 [4.37 |4.39 |4.34 |4.32 |4.22 |4.37 [4.32
S430107| tAT2amruEED (o) [ = B | 3] 6159 [400]3.84]3.21[2.98 [4.09 [3.70 [3.21 |2.98 |3.44 |3.39 |3.51 |4.68 [3.49
S430108/55=nn1>5uvvancs) |BREA BEF | X | 1| 22| 19 |437 426 [3.16 |3.79 [4.06 |4.37 |453 [4.37 |4.37 |4.47 [4.32 |4.47 |4.47
S430109 KSR USEE I () [/MNA R A| 5 1] 1 ]4.004.00[4.00]1.00 [1.00 |4.00 |4.00 [4.00 |4.00 |4.00 [2.00 |2.00 |4.00
S430110 /K2 R USRS O N | 1] 132]117 |4.32 |4.26 |2.86 |3.38 [3.65 [4.20 [4.22 |4.20 |4.28 |4.16 |4.04 |4.38 [4.33
S430111| T AREHERM(S) |[/MNA 52 | 3] 12] 7 47114711286 |4.00[3.86 [4.57 [4.71 |450 |4.71 |4.71 |4.57 |4.86 [4.57
S430112/+ KRE3INV (S) N «| 5| 62| 45 |4.47]4.4712.82 [3.91 [4.18 [4.24 |4.38 |4.36 |4.33 |4.47 [4.40 [4.73 |4.44
S430113BE T %G =F Bl 3 3| 2 [3.50]3.50 [2.00 |3.00 |2.00 [4.50 |4.50 |4.50 [4.50 |4.50 |4.00 [3.50 |4.00
$430114;BF T (S) %G =F Kl 1 4 3 14.67|4.67[3.00 |4.67 |4.00 |4.33 |4.67 |4.67 |4.67 |4.67 [4.67 |4.67 |4.67
S430115| O HMEE T (S) [ngn [os Bl 2[ 4] 2 |5.00]5.00]3.50|5.00 [5.00 [5.00 |5.00 |5.00 |5.00 |5.00 [5.00 [4.50 |5.00
S430116/ k)L T2 wE Bk d| 1] 11| 9 4.33]4.4412.33 |3.56 [3.44 |4.44 |4.56 |4.44 |14.33 [4.22 [4.11 [3.89 [4.44
S430117| i E A kg B0 s | 1] 12| 8 [4.13]4.00]2.38 |3.38 [3.50 [4.25 [4.38 |4.50 |4.38 |4.25 |4.13 |4.38 [4.25
S430118 £ v 7FH A EE (S) [1EiE = x| 4] 6562 |418]4.13]2.08[3.16 [3.62 [3.78 [4.12 |4.02 |3.92 |4.17 |4.10 |4.70 [4.33
S430119MEIE EZH NE x| 2] 5/ 5 |460]4.80(3.00|2.40 [2.00 [4.00 |4.80 |4.80 |5.00 [4.80 [4.80 [4.40 |5.00
S430120% 4 - IStE S IR IEIE fB— Bl 1] 10] 9 489467 |2.44|2.89 [3.22 |4.44 |4.89 |4.89 |4.89 |4.56 [4.67 [3.44 |4.78
S430121RIB=EE I (S) A 2ER s | 1] 67/ 65 |412]4.11|2.40 |3.38 [3.83 [3.92 |3.75 |3.88 |4.02 [4.00 [4.05 [4.58 |4.20
S430122| + AT=HEE (S) BE E— B | 1| 62|51 |463]455]|3.08(3.98 [4.28 [4.47 [4.39 |4.35 |4.43 |4.41 |4.37 |457 [455
S430123 /KSR UEE D (S) |[B R #&— B | 3| 66/ 61 [430]4.20]2.66[3.43[3.74 [4.134.02 |4.10|4.18 [4.18 [4.13 [4.62 [4.30
S430124 + AT EE B &5 Bl 2[ 3/ 1 |500]5.00]5.00|5.00[2.005.005.00]5.00|5.00 |5.00 [5.00 [5.00 |5.00
S430125| F v TTFHA BiE 2 Bl 2 76|75 |4.16]3.97 |2.13 [2.30 [2.61 [3.72 |3.84 |3.69 |3.71 |3.88 [4.01 [4.40 [4.00
S430126|IRIBE T B 2= A 3 4| 4 [4.75[4.752.25|3.25 |2.75 |4.50 |4.75 |4.50 [4.75 [4.25 |4.50 | 3.50 |4.75
S430127[IBE T2 (S) BiE 2 Bl 4 9| 8 |488]4.75]2.88[4.25[4.25 |4.75 |4.88 |4.88 |4.75 |4.88 [4.75 [4.50 |4.88




T 305 EE £ £ T RITZR
HEERS B4 HE£ B | IR | mesan| misuy| SRR91| 55R92| SRR93| 5k F95| 5RR6| SRR 7| SR RT6| SRRT9| serto] sepsve| sBRT12| BRY 18] SBRT14
S430128| v U7 TFH A d4t {&BA A 2| 82| 80 |4.50 |4.34 |12.23 |2.46 |2.62 [4.06 [4.32 |4.23 |4.27 |4.28 |4.38 [4.51 [4.52
8430129 v )7 THAUEE (bt GEA N 4| 66| 62 |4.26 |4.22 |12.15[3.15[3.79 [3.82 [4.15 |4.05 |4.21 |4.13 |4.26 [4.30 [4.42
S4301300 T BEHERVERE DI |[HE {fth A 3| 134|110 |4.31 |4.21 |2.74 |3.38 |3.56 [4.04 [4.27 |4.15 |4.20 |4.12 |4.05 [4.46 [4.26
S430131| AT EREUETD kO FIE A 3| 52| 52 |4.4714.38 |13.42 |2.96 [3.73 [4.31 |4.44 |4.31 |4.29 |4.21 |4.21 |4.62 [4.46
S430132l = RKEFIVI(S) KO FE zoft| 9| 63| 46 [4.39 [4.37 [3.80 |4.35 |14.43 |4.40 |4.43 [4.33 [4.33 [4.39 |4.37 |4.67 |4.37
S430133| [ T Ml A— PN 2| 28| 22 14.3214.3212.45[3.18 [2.91 [4.32 |4.50 |4.45 |4.36 |4.50 [4.36 [4.27 |4.64
8430134 ¥ ) 7 TH4A4(S) |[luO & A 1 59| 56 |4.54 |4.43 [2.09 [2.95 [3.23 |4.11 |4.41 |4.35 |4.45 [4.52 [457 |4.46 |4.43
S430135| v )7 THAUEE (IO & Y 4] 63| 61 |4.30 |14.30 |2.28 |2.98 |3.44 [3.89 [4.11 |4.13 |4.10 |4.21 |4.34 |4.46 [4.43
S430136| e - IRIEEIE(S) SR IE A 3] 12| 10 |4.80 |4.60 |2.60 [3.80 [3.90 [4.50 |4.70 |4.60 |4.60 [4.60 [4.60 [4.10 |4.70
543013717z NEE I SR IE A 4 1] 1 [5.00 [5.00 [5.00 |5.00 |5.00 |5.00 |5.00 [5.00 [5.00 [5.00 |5.00 |5.00 |5.00
S430138| + RERET I T SR IE N 3 19| 16 |4.00 |3.88 |2.75 |3.31 |3.56 [3.94 [3.81 |3.81 |4.06 |3.81 |3.88 [4.50 [4.06




T 305 EE £ £ BEIYH
HEERS sk HE4A A | B IR | meas| masn| SRR51| 55R92| 52 R93| 5RR%5| s3R6| SRR 7| BR8] SR RT0| sarsio] sp 1) sgra2] sarsia) sr9ia
S340101| R s IV (BERE) |5m 4—88 | A | 1 ]180| 46 [4.22 |4.27 [4.67 |4.15|4.13 [4.11 |4.26 |3.98 [2.72 |4.07 |4.11 [4.96 |4.30
S34o102RIBst I Mea-B)|sA - (& 1|69 - | - | - [ -l -|-1-1-1-1-1-1-1-1-
S340103| BRI VI (BERE) (KN ER | 1| 23|18 |422 4441483 [4.17 450 [4.33 [4.39 |4.39 |3.83 |4.39 |4.44 [4.72 [4.67
S340104 B EREEHF I #HHE BA K| 1] 98|95 [4.20]4.13]3.26 [3.40 |4.12 |3.85 [4.04 |3.96 |4.06 [3.81 |4.02 |4.59 [4.25
S340105| B EEEHF 1 EE |HE A K| 2] 98|95 [417]4.12]3.29 [3.54 |4.18|3.93 [3.96 |3.93 |4.07 [3.89 |4.13 |4.67 [4.28
S340106/1X B B8 BT k| 3] 30|28 [3.823.613.04]282]3.50]3.79 [3.71 |3.68 [3.68 |3.46 |3.71 |4.46 |3.75
S340108| £ FEE T2 RIES AL =4t A| 1]192] 90 [4.07 [4.01]3.29|2.92 |3.46 [3.46 [4.13 [4.16 [3.98 |3.61 |4.01 |4.63 [4.11
$340109| &R EHE % = £ 1]199]132 [4.19[4.11[3.36 [3.37 |3.82 |3.84 |4.02 [4.06 [3.91 [4.03 |4.07 |4.62 |4.18
S340110E3+—/LB LB =t % | 3]137]137 [448[451[3.18|4.06 |4.37 |4.28 |4.49 [4.49 [4.41 |452 |453 |4.69 |4.70
S0 | BERA N (THAV) | KT EER B 1| 31|22 1432 4.41[4.7714.05 |4.45 |4.27 |4.77 |4.41 |3.77 |4.55 [4.23 |4.45 |4.73
S340112\ 3B EEER I NG 18 | 1 [ 241219 [4.21 1413 13.83 [3.49 [4.19 [3.95 [4.17 |4.04 |3.74 |4.17 |4.09 [4.90 [4.26
S340113E3+—/LB TE E— Bl 3[10]| 9 |356]367]2.78(2.89[3.67[3.56[4.11]3.7813.89|3.89 |3.63 |4.78 [3.67
SA0UYBERAVI(TH ML) |BEE #— K| 1] 29 [ 27 13.96 [4.04 [4.74 |14.00 [4.30 |4.33 |4.41 [4.19 |3.59 |4.50 [4.00 |3.89 |4.30
S340115| THRTFUTFTTH AL |El fE— k| 1] 18] 18 [4.00[4.00 [2.613.28|3.72 |3.83 |4.28 [4.22 [3.89 [3.89 |4.06 |3.83 |4.28
S340116[ B EHE I R E— 7k | 3 | 251]222 [3.78 [3.70 [2.74 [2.82 |3.30 |3.15 |3.67 |3.42 [3.64 [3.78 |3.25 |4.59 |3.60
S0 T EBEEEHZI T &— K| 1] 95|94 [4.15[4.06 |3.22 [3.29 [4.12 |3.90 [3.90 |4.02 |4.09 [3.63 |4.09 |4.61 [4.27
S0 EERENF I EE |TH B8— K| 2] 95|92 [409[4.00]3.28 [3.29 |4.11 |3.89 [3.90 |3.91 |3.98 [3.60 |4.08 |4.62 [4.24
S340120/#hET % bt REEF | K| 1] 66 [ 60 |4.124.07 [2.653.05 |3.50 [4.10 |4.13 [3.92 [4.10 |3.75 [3.98 |4.15 |4.02
S340121| T EHIE KHF B A 1]225[208 [4.08 [3.94|2.11|2.61 |2.86 [3.68 [4.05 [3.89 |3.98 |4.01 |3.97 |4.58 [4.12
S340122 BEREEHF T fhits FE K| 1] 19|17 [459[4.47[3.47[4.00]3.65 |4.12 |4.29 |4.35 [4.41 [3.82 |4.35 |3.71 |4.24
S340123 EERBENZ 1 EE (6B T K| 2] 12 |11 |464|4643.73]3.82]3.554.27 |4.36 |4.55 [4.64 |3.82 |4.45 |3.82 |4.55
S340124 LNV (B1E) Eis B A 1] 27|24 13.924.08[4.96 13.70 [4.21 |3.96 |4.29 [4.04 |3.58 |4.21 [4.25 |4.17 |4.46
S399143| B T AIEDERE2 (%) (LU 18t | 1]205]198 [3.92[3.95[2.52 [2.78 |3.56 |3.28 [3.59 [3.59 [3.43 [4.03 |3.93 |4.66 |3.76
S440101|BEH T KN = B | 3] 86|37 [424]416]2.17(2.43[2.94[3.63[4.334.174.11]3.81 [3.71 [4.27 [4.35
S440102| BEATH A2 FE | 3] 18| 15 [4.13]4.31]3.27 [4.13 [4.00 [4.20 [4.20 |4.40 |4.27 |4.20 |4.40 |4.47 [453
S440103| KR E & #HHE BA £ | 3 [157]126 [4.21 [4.1112.33 [2.95 |3.31 |3.85 [4.14 |4.07 |4.10 [3.98 |3.99 |4.71 [4.25
S440104| ZF ¥ 55 B8HF BT A 1| 71|60 |4324.35[4.77 1450 |4.62 |4.48 |4.55 |4.42 |4.13 |4.62 [4.42 |4.63 |4.57
S440105/ 45 BIERETIV AT EER | 3| 11| 8 |413]4.38]4.50[3.88 [4.00 [4.50 |4.25 |4.25 |4.00 |4.13 [4.38 [4.63 |4.00
S440106| 85 B NS 18 Bl 1] 69|58 |431]419]3.00(3.53[3.88 [4.10 [4.22 |4.26 |4.10 |4.02 |4.16 [4.09 [4.29
S440107| B B EEE NS 18 Bl 2| 61|52 [427]421]3.00(3.38[3.83 [4.25 [4.23 |4.25 |4.17 |4.06 |4.21 [3.98 [4.29
S440108| B ELRAHZE N 18 | 1 [118[112 |4.13]4.05 |2.95 [3.05 [3.71 [4.13 |4.20 |4.07 |4.14 |3.91 [3.93 [4.23 |4.20
S440109| B ECAHFES NS 18 | 2 [116[110 |4.17 |4.05 |2.78 |2.88 |3.65 [4.15 [4.08 |4.02 |4.05 |3.85 |3.80 [4.25 [4.15
S440110| i T = T4 15— B | 3] 79|73 4444411327352 [3.99 [4.38 [4.44 |4.41 |4.41 |4.26 |4.36 |4.30 [4.47
S440112|fEE% EHE EH BT | 3| 67|56 |439]427]2.30(3.34[3.59 [3.98 [4.61 |4.62 |4.63 |4.46 |4.36 |4.41 [4.75
S440113BELRAHZE B FIAE | 1 [ 114111 |4.28 |4.30 |3.32 |3.50 [3.83 [4.29 [4.28 |4.20 |4.27 |4.11 |4.01 [4.07 [4.33
S440I4 B ECAHZES A FIRE | 2| 111[103 |4.38 |4.37 [3.25 |3.40 |3.93 |4.31 |4.33 [4.36 |4.32 |4.05 [4.01 |4.09 |4.39
S440115|BEL ETE X F | 1] 63|46 |4.39]4.35]3.33(3.89 [3.98 [4.35 [4.48 |4.39 |4.24 |4.39 |4.28 |4.13 [4.52
S440116[ B FBIET ST =t m4&E | 3 [135[126 |4.21 |4.18 |2.79 [3.23 [3.60 [4.15 |4.25 |4.27 |4.22 [3.94 [4.20 [4.61 |4.34
S44011 7| BERE T =t m4&E % | 3]128]115 [4.39 [4.32 [3.00 |3.40 |3.77 |4.22 |4.40 |4.38 [4.42 |4.22 |4.42 |4.39 |4.53
S440118|% 5t il 513 | K| 1| 27 [ 21 462452 ]4.00]4.33 [4.43 (452 [4.62 |4.57 |4.24 |457 |4.38 [4.24 [457
S440119 55 RIEREH T il 515 | K| 3 [ 27 [ 22 4644521473 ]4.32 |4.41 [4.41 (459|455 |4.14]4.55 |4.36 [4.27 [4.45
S440120 2 EXR N EERE) (6B B K| 1] 42|39 [433[4.29(3.693.744.38 14.08 |4.31 [4.21 [4.15 [4.44 |4.36 |4.92 |4.54
S440121| F v T7TH A I pER 7k | 5] 207]165 [3.80 [3.69 [2.56 |2.68 |3.18 |3.29 [3.72 [3.47 [3.41 |3.66 |3.67 |4.44 |3.56
S440122 BEELH T (BERE) |IWWiF 18 £ | 1]168]140 [4.11 [4.10 |4.68 [4.06 |4.20 |4.22 [4.24 |4.09 |3.69 [4.24 |4.19 |4.81 [4.44
S440123 RETH A theh #—BR [ K| 3] 27 | 18 [4.00 [4.06 [4.00 [3.72 |4.17 |4.06 |4.72 |4.44 [3.78 |4.28 |4.17 |4.33 |4.39
S440124 3 H I Bz B B | 2 [263]|238 |4.08]3.97|2.95[2.82 |3.56 [3.38 [3.96 |3.57 |3.83 |3.65 |3.66 |4.07 [4.03
S440125| B EHF RS ZiE B | 1]186]171 [4.02[3.99 [2.96 |3.33 |3.64 |3.69 [3.93 [3.92 [3.93 [3.82 |3.94 |4.34 |4.03
S440126[ B FELE T (B1E) EE B | 1] 30| 28 [3.89]3.8214.75[3.96 |4.32 |4.18 [4.18 |3.96 |3.57 [3.93 |4.07 |4.25 |4.14




T 305 EE £ £ SRS FIEEH
HEERS sk HE4A A | B IR | meas| masn| SRR51| 55R92| 52 R93| 5RR%5| s3R6| SRR 7| BR8] SR RT0| sarsio] sp 1) sgra2] sarsia) sr9ia
S350101| FH#EE2 1 mlll EA h| 3| 82|77 4421436 |3.06 |2.86 [4.01 [4.47 [4.22 |4.22 |13.96 |3.82 |3.84 |4.69 [4.25
S350102/{b 23 EE | FE St | 1| 62|58 |426]4.33]3.02[2.72[3.38 [4.26 [3.91 |3.86 |3.78 |3.61 |3.97 |4.67 [4.03
S350103{L 22 EE | WHE % | 1] 68|65 |449]451]3.32[2.40[3.27 [4.40 [4.12|4.12]3.78 |3.77 |4.14 |4.65 [4.16
$350104| AE¥1L 2 (S) HE & K| 2| 21 [ 21 1486 4.95[3.0513.76 [4.24 |4.71 |4.71 |4.81 |4.57 |4.43 [4.62 |4.67 |4.62
S350105| EHEHIR{LE TR FE B | 3] 80|74 |424]423]2.80(3.37 [4.04 [4.30 |4.23 |4.14]4.08 |4.15 [3.84 [4.38 |4.28
S350106| EHEIR{LE TR FE Bl 4] 76|76 |432]422]3.08[3.21[3.89 [4.29 [4.05[3.93 |4.10 [3.91 [3.73 [4.41 |4.14
S350107|{b22 8 2 {EE = B | 1 [167[147 |4.37|4.25|2.85 |2.63 [3.52 [4.26 |4.25 |4.22 |4.22 [3.95 [4.01 [4.67 [4.20
S350108/{L 228 H 2= (S) {EE = Bl 4] 21|21 |467]467]3.00(3.67[4.19[4.71 471|467 1462|457 |4.48 |4.67 [4.71
S350109| H#IE=2 1 EK E— x| 4] 60|60 |425]425]3.23(3.13[3.63[4.17[4.104.0713.924.12(3.76 |4.58 [4.12
S350110| 9 FHES AT (S) |28 = Bl 2| 21|21 |471]471]3.67[3.95[4.60 [4.67 [4.76 |4.33 |4.29 |4.67 |3.95 |4.67 [4.57
S3501 1| A ffbiEs EEH £ A 4| 94|94 1419 4.04[3.07]3.23[3.72 |3.82 |13.86 [3.91 |3.85 |3.82 [3.85 |4.83 |4.02
S3501 12 AN FIL2ERT |28 = | 1 [157[157 |4.06 |3.96 |4.46 |3.86 [4.45 [4.06 [3.95 |3.78 |3.15 |4.01 [3.82 [4.87 [4.11
S350113 D 4F{E=2 1T (S) h% =R Bl 3] 22|22 |477]482]3.00[3.50 [4.09 [4.73 [4.68 |4.77 |4.55 |4.59 |4.50 |4.62 [4.77
S3501 14 AN FAL =R (S) | Z=H d| 1] 29 | 29 |466]452]3.76 |4.14 [4.79 [4.10 [4.48 |4.38 |3.79 |4.72 |4.45 |4.97 [4.55
S350115[{L 2 BEE (S) e mmF | Bl 1] 29|29 [434]414]3.21]3.03 [3.66 [3.90 [4.03 [4.10 |4.07 |4.21 |4.28 [4.72 [4.38
S350116) £ FE T2 RIES Bk BE Bl 3|12 9 |444]444]3.22(3.56[4.003.674.67]4.334.44[4.00[4.00[5.004.44
S350117|{b EERNIBET #H 5= Bl 1[10] 9 |411]4.00]2.67|2.78 [3.44 [4.00 [4.00 |4.00 |3.89 |3.56 |3.44 [4.00 [4.11
S350118/{L FIERNIBET #H 5= Bl 2| 24|24 |421]421]2.88(3.38 [4.13[3.79 [4.04 |4.21 |4.25 [4.33 [3.96 [4.67 |4.38
S350 METH AV EE RE &% Bl 4] 66|65 |417]4.08]3.08[3.42[4.03[3.923.94]3.80]3.91]3.783.94 [4.86 [4.12
S350120 & F = (45:%) WH fos Bl 1| 24|18 |422]428(3.17(2.83[3.67 [4.61|4.44 422 |4.44 |4.44 [4.06 [4.50 |4.50
S3501 21| EMEM B T 2F WA A A 2| 66|34 |3.713.41[2.56|2.74 |3.65 |3.24 |3.35 [2.97 |3.50 |3.12 [2.97 |4.62 |3.26
S3501 22| EHEA L T2 (S) WA EEh K| 1] 9| 9 [456[456(3.22]4.00]4.2214.00[4.44[4.33[4.22 4.00|4.56 |4.67 |4.67
$350123 L FIEHMAIEEE (S) |ILR EFE A 3| 26 |26 |4.464.23[3.423.38 [4.35 |4.31 |3.96 [4.00 |4.35 |4.19 [4.54 |4.96 |4.38
S3501 24/ EHEIEZ 1 (S) WiE BEF Bl 4] 22|22 |450]450(3.18 [3.05 [3.64 [4.14 |3.67 |3.67 |4.14 |3.52 [3.71 [4.80 [4.20
S350125/ 4 ¥ IR 2 (S) TR —R% Bl 2| 13|13 |4.46 |4.46 |3.00 |3.62 [3.69 [4.38 |4.54 |4.46 |4.46 |4.46 [4.38 [4.62 |4.50
S350126| AL IRIL 2 (S) TR —R% B | 3| 23|23 |478]4.7313.39 [3.65 [4.22 |4.52 |4.57 |4.39 |4.48 [4.39 [4.52 [4.96 [4.74
S399135| BT AIEOER2 51E) | R B2 A 1 [147]141 [4.29 [4.192.70 |2.79 |3.76 |3.66 [3.91 [3.96 [3.74 |4.11 |4.09 |4.61 [4.01
S399140| @ TalEnER2(S) (Sit) | EH =T A 1] 21 [ 21 [462]460]2.76]2.57 3.95 [3.62 [4.33 [4.19 |4.00 |4.29 |4.38 [4.90 [4.19
S450101| FHEIEZ 1 (S) mlll EA B | 3| 21|20 |465]455]|3.60[2.95[4.30 [4.65 [4.70 |4.75 |4.65 |4.40 |4.25 |4.80 [4.75
S450102¥34—)L mlll EA K|l 1] 9| 7 [429]a50(257]243]2.431457[4.71 |457 [4.29 |4.71 |4.00 |4.86 |4.43
S450103 i T EHIE B KA k| 1158|154 [4.07 [3.88 [1.85 |2.52 |2.96 |3.32 |4.24 [3.88 [4.05 |3.63 |3.94 |4.42 |4.03
S450104| il i |z i T2 MR S B | 3|39 |34 |432]422]2.42(2.94[3.65[4.24 [4.42 |4.3214.29 |4.35 [3.73 |4.38 [4.41
S450105| 34 —)L FE St K|l 1] 9] 9 [433[433[2.44]3.00]3.44]4.00|4.56 [4.33[4.11[4.33|4.44|4.56 |4.50
S450106| F v 7T HAUES |FE SH K| 2 ]134]117 [3.97 [3.89 [2.34 |2.66 |3.05 |3.28 [3.86 [3.69 [3.37 [4.02 |3.87 |4.54 |3.69
S450107| v U7 THA(S) |[#E % Bl 2| 21|21 |471]471 1257 [3.05[3.62 [4.43 |4.67 |4.67 |457 |4.67 [457 [4.76 |4.48
S450108 BT E IR (S) HE % B | 4| 28|28 457459 |2.86[2.89 [4.04 [4.36 |4.50 |4.43 |4.18 |4.64 [4.20 [4.86 |4.54
S450109 ¥34—)L HE % K|l 1] 9| 9 [456[467[1.44]3.44]3.67]4.890|4.56[4.78 [4.56 |4.56 |4.44 |4.89 |4.78
S4501 10N FL2EE T (S) [#aA & K| 3] 29|29 [452[450(4.144.34 4241417 |452 [4.03 [3.21 |4.48 |4.21 |4.97 |4.62
S450111| 34 —)L Rt &= K|l 1] 9| 9 [456[478[2.334.33]4.56|4.78 |4.89 [4.89 [4.78 |5.00 |4.89 |4.89 |5.00
S4501 12/ T EifE K k| 3] 82|82 [413[4.10(2.20]2.85]3.35 |3.70 [4.23 [3.89 [4.07 [3.93 |3.88 |4.60 |4.12
S450113/{L 2 HEE [ (S) =k = Bl 4] 22|22 |455]459|2.77 |3.82 [4.23 |4.68 |4.55 |4.45 |4.36 |4.55 [4.36 [4.91 |4.64
S450114 34 —)L EE = | 1] 8| 8 [438[450(2.00]3.88]3.754.25 |4.63 |4.50 [4.50 [4.63 |4.13 |4.50 |4.50
S450115[{b2 T2 1 {EE = B | 3|63 |54 |424]419]2.70(3.17[3.70 [4.17 [4.41 |4.37 |4.33 |3.96 [4.00 [4.78 [4.41
S450116[{b2 T2 1 {EE = Bl 4] 78|72 |431]428]2.74(3.19 [3.92 [4.35 |4.35 |4.39 |4.31 |4.14 [4.03 [4.68 |4.28
S450117| 34 —)L 1k B=E K| 1] 11 ] 11 [491[491[2.64]3.91]3.55]4.45[4.91 [4.91 [4.64 [4.82 |4.82 |5.00 |5.00
S450118/#849 Fib2 #E=K E— d| 2| 29 | 26 [423]4.12]2.69|2.54 [2.52 [3.69 [4.04 |3.69 |3.50 |3.88 |3.31 [4.23 [3.77
S450119¥3+—)L BEK IE— K| 1] 8] 8 [400]/[400](2.75]3.13]3.3813.63 [4.00 [4.25 [3.75 |4.38 |4.38 |4.50 |4.25
S450120(I81&5 1L = (S) BiE K B3] 7| 7 |429]429]3.29(3.71[4.29[4.29[4.29 |4.14]3.86 |3.86 |4.29 |4.86 [4.57
S450121| A ¥ IR BiE K& | 3| 31|27 |444]426]2.63[2.89 [3.41 [4.15[4.44 |4.15]4.04 |4.15 |3.63 |4.59 [4.33
S450122 7O o EE BiE K «| 4] 4| 4 |450]450]3.00[3.75 [4.50 [4.50 |4.00 |4.25 |4.75 |4.75 [4.50 [5.00 |5.00
S450123 34 —)L BiE K K| 1] 9| 9 [444[450(2.00]4.22]3.78 |4.44|4.67 |4.56 [4.56 |4.56 |4.44 |4.11 |4.67
S450124 ') — 453X M—  |HB & B | 2|58 |45 |433]4.14]2.87|2.87[3.38 [3.51 [4.11 |3.93 |3.98 |3.87 [3.89 [4.40 |4.18
S450125( ML 1 Hep Bl 3] 7061 |369]3.85]|3.43[2.56[3.95[2.983.07]2.85(3.08 [3.11 [2.93 [4.69 |3.44
S450126| EHEIEZ T Hep Bl 4] 7467 [402]3.83]3.42[2.88[3.81[3.05([3.213.12]3.13]3.15[3.09 |4.64 [3.35
S450127| fEHEE RILZ (S) He Xl 4] 1 1 |5.00 [5.00 |5.00 |5.00 [3.00 |5.00 [5.00 |4.00 |4.00 [5.00 |4.00 |5.00 [5.00
S450128 F34—)L Hch %= k| 1] 6 | 5 [420][420(3.20]3.804.004.20 [4.20 [4.20 [4.00 [4.20 |4.20 |4.40 |4.20
S450129 v YT T HA ey & B | 1[163[145 417 ]4.04]2.39 |2.74 |3.08 [3.50 [3.92 |3.81 |3.86 |3.97 |4.01 |4.50 [3.97
S450130| 2 F1t=2(S) ey & Bl 2| 28|27 |444]433(3.19 (352 [4.04 [4.41 |4.26 |4.04 |4.22 |4.15 [3.63 [4.67 [4.30
S450131| 49> FHE S R4 ey & B | 3]69]65 [409]395][3.12[2.83[4.11[4.003.83]3.38]3.66 |3.68 |3.17 |4.60 [3.85
S450132| 9> FHE S R4 ey & Bl 4| 62|53 |372]365]283[2.77[3.77[3.83[3.342.79 |3.40 |3.53 |2.81 [4.60 [3.36
S450133F34—)L B & K|l 1] 6 | 6 [417]417[283]3.33]3.6713.67 [4.00 [4.00 [4.00 [4.33 |4.17 |4.67 |4.17
S450134 DAL I h% =R | 3| 81|75 |425]4.19]2.71 [2.69 [3.47 [4.27 |4.21 |4.16 |4.05 |3.83 [3.88 [4.61 [4.24
S450135| 4L I h% =R | 4|50 |40 |4.31 4231293 [3.15[3.83 [4.35 [4.35 |4.38 |4.25 |4.03 |4.18 [4.65 [4.31
$450136) F3F+—JL hE EB K1 1] 9 | 9 |444]467 256 |3.44(3.78 [4.67 [4.67 |4.67 |4.56 |4.67 |4.89 |4.67 |4.89
S450137| 4 ¥k (A dh) B2 smmF| AL 1] 76 ] 71 [4.21]4.16]2.73[2.77 |3.68 |3.39 [3.68 |3.39 |3.58 [3.45 |3.80 |4.49 [4.00




T 305 EE £ £ SRS FIEEH
HEERS sk HE4A A | B IR | meas| masn| SRR51| 55R92| 52 R93| 5RR%5| s3R6| SRR 7| BR8] SR RT0| sarsio] sp 1) sgra2] sarsia) sr9ia
S450138/#ia T = mmmF | B 3] 46 | 44 |418]4.05]2.45]3.30 [3.61 [3.86 [3.89 [3.81 |4.02 |3.80 |3.86 [4.55 [4.18
S450139 ¥34—)L FE fammF | K[ 1] 9] 9 [433]463]2.89(3.89(3.89(3.67[4.22 |4.114.22 [4.44 |4.22 |14.78 |4.56
S4501400{E=2 T2 1 (S) Bi #BE d| 2| 21| 21 4624711329 (3.71 [4.10 [4.57 |4.67 |4.48 |4.48 |4.48 |4.43 [4.62 [4.71
S450141|F34—)L Bi BE K|l 1] 9| 9 [478[467[289]3.894.1114.00[4.67 [4.67 [4.44 |4.56 |4.56 |4.67 |4.89
S450142 FHEME LE BH ZFT K| 2| 52|43 1447 14.28 [2.79 13.14 |4.05 |4.33 |4.51 [4.40 |4.51 |4.28 [4.24 |4.35 |4.58
S450143| 9 FHEXEE (S) M =T f| 3] 13|13 |462]4.83]3.54(3.62 4.62 [4.69 [4.69|4.694.694.77 454 [4.77 [4.85
S450144 34 —)L M =T K|l 1] 10] 9 [411[411[2.00]3.11]3.56(3.89 [4.22 [4.22 [4.22 |4.56 |4.00 |4.78 |4.44
S450145| 7Ot X T2 (S) #E 5= «| 4| 15| 15 |473]4.67 |3.40 |3.33 [4.13 [4.20 |4.67 |4.60 |4.53 |4.53 [4.33 [4.73 |4.80
S450146| 34 —)L #H 5= K|l 1] 9| 8 [450[400](1.75]3.3813.38 14.29 |4.63 [4.38 [4.75 |4.88 |4.38 |4.63 |4.63
S450147| 2 BT (S) WA B2 Bl 2| 14|14 |479]486|3.43(3.31 [4.71 [4.71[4.79 |4.86 |4.86 |4.64 |4.57 [4.93 [4.93
S450148 & FILFE(S) WH fos Al 1| 7|7 1443457[3.00]3.86 [4.43 |4.71 |4.71 |4.43 |4.43 |4.71 [4.29 |5.00 |4.57
S450149 &0 FHFHEE WH fog k| 3| 53 | 48 |4.38 |4.38 [2.65 |3.44 |4.08 |4.44 |4.52 |4.38 |4.40 |4.25 [4.08 |4.35 |4.48
S450150 F34—/)L =S K| 1] 9| 9 [433[444(2.33]3.67]4.33]4.89(4.78 |4.67 [4.56 [5.00 |4.56 |4.89 |5.00
S450151| % vy 7FHs BB (s) [IUA Fose K| 1] 2121 [476[4.76 252 |3.00|3.86 |4.57 [4.52 [4.52 [4.29 |4.52 |4.57 |4.76 |4.71
S450152 2 FILE I (S) IWE EEA x| 1] 4| 4 |500/5.00[3.00]3.75 [4.75 |5.00 | 5.00 [4.75 |5.00 | 5.00 [4.75 |4.00 |5.00
S450153 34 —)L IR EF Kl 1] 10] 9 [411]a11]1.44]256]2.223.22 [4.11[4.22[3.89 |3.89 |3.89 |4.89 [4.11
S450154 £k (9E) iR —R A 2| 64|54 1419 4.17[2.81|3.04 |3.43 |4.26 |4.09 [3.89 |4.02 |3.68 [3.74 |4.31 |4.02
S450155 F¥3F+—)L iR —R KI1] 9] 8 [438[4.14]2.63[2.88(3.00)4.13[4.134.25|4.13[4.38 |4.38 |14.13 [4.38




T 305 EE £ £ IRTAVNIER
HEERS sk HE4A A | B IR | meas| masn| SRR51| 55R92| 52 R93| 5RR%5| s3R6| SRR 7| BR8] SR RT0| sarsio] sp 1) sgra2] sarsia) sr9ia
S360101[RESH(EE) B SFE K| 2] 70|51 [422]424]2.25(2.88|3.16 |3.76 [4.24 |4.18 |4.16 [3.86 |4.04 |4.20 [4.16
$360102 7O ERA/_"—< 3> |HA+8 wm—en| Bl 4| 35| 22 1436 |4.23 [2.45 [3.36 [3.50 [4.14 |4.36 |4.27 |4.36 |4.32 [4.18 [4.14 |4.38
S360103 E AR BEH B K| 4] 13 ] 11 [464]4.64]3.18[4.09 |4.18|4.73 [4.82 |4.91 |4.82 [4.73 |4.55 |4.82 [4.82
S360104 F—HAR—X AT L |8 B d| 2| 24 | 21 |405]3.95]2.52[2.67 [3.33 [4.00 [3.95 |3.81 |3.71 |3.81 [3.24 |3.67 [3.95
S360105 IR E & MR BE) g E# k| 3] 68|67 [421[415][2.48]3.70]3.78 |4.28 [4.27 [4.19 [4.19 [4.07 |3.94 |4.40 [4.21
$360106| %K ot E i r &HiE £ | 1] 36| 21 [3.95](3.86 250 [3.29 |3.30 |3.65 [4.00 [3.90 |4.00 [3.70 |3.71 | 3.95 [4.00
S360107| EIELEt E# AR A | 3| 58|47 |3.793.79 [2.43 |3.06 |3.57 |3.57 |3.91 [3.77 |3.85 |3.77 [3.83 |4.38 |4.19
S360108|#F =5 B# AR #£[4] 7| 6 [400][4.00]250[4.00[3.50|3.67 [4.50 |4.17 |4.33 [4.00 |4.00 |4.33 [4.83
S360109 BRGE B S IE R FBRK K| 2 1176[173 14.26 |4.18 [2.76 |3.19 |3.55 [3.94 |4.19 [4.14 |4.27 |3.94 [4.14 |4.26 |4.21
S3601107EE - MHEE R FBRK K| 1] 47| 43 [4.35(4.29 1253 [3.41 |3.36 |4.05 [4.40 |4.21 |4.31 [4.07 |4.17 |4.28 [4.40
S360111|esrzozaL—aam® [2A s 1] 1 ] 1 |400]4.00]3.00|4.00 [1.00 [4.00|4.00]4.00|4.00 [4.00 [4.00 [5.00 [4.00
S360112|pvbh<w—4T4245 |28 # K|l 4] 7| 3 [467]4672.33]3.00]2.0014.33[4.67[4.67[4.67|4.67]5.00]4.33|4.67
S360114ECHRR—F =y [FR HF A 3| 53|41 |4274.18[2.7313.45[3.90 |4.12 |14.30 [4.37 |4.20 |4.39 [4.41 |3.98 |4.50
S360115| 7 A T44 SEH NF 7k | 3 ]192]128 [4.30 [4.27 [3.02 [3.02 |3.44 |3.77 |4.31 [4.12 [4.08 |3.96 |4.05 |4.56 |4.36
S360116| ABIE RS IE EH XF A| 1 [211[152 [4.13]4.07 |2.20 |3.28 |3.34 [3.95 [4.31 [4.13 |4.15 |4.24 |4.11 |4.38 [4.26
S360117[B&IT% I B «| 1] 3| 3 |433]4.33]2.67[3.00[3.67[3.67[4.00]4.00]3.674.00[4.00|5.00 [4.33
S360118|7nvzsrzrvsr g |KE HE Bl 2| 20| 14 |421]407]2.21(2.93[3.23 [3.86 [4.21 |4.50 |4.21 |4.50 |4.43 |4.07 [4.57
S360119 @B eE®ma (ES-7—R) [k E A | 1 [109] 88 [4.22|4.15|2.64 |3.10 [3.66 [4.27 [4.25 |4.24 |4.23 |4.31 |4.11 [4.34 [4.25
$360120]) RIT R AV A =% B | 5| 41|37 432]4.36]3.00[3.62 [3.70 [4.22 [4.49 |4.35 |4.41 |4.46 |4.30 [4.27 [4.41
S360121|hzEAY T4 RS AU [ IUA = x| 4] 30|30 [440]4.40]2.77 |3.80 [3.83 [4.17 [4.53 |4.47 |4.50 |4.53 |4.27 |3.87 [4.59
$360122E45 G ER IR = K| 3] 27|27 [448|456[2.783.81|4.154.48 |4.56 |4.56 [4.44 |4.59 |4.15 |4.41 |4.67
S399104 B FAIEDER2 (MA) |BE EE K| 1]196]169 [4.21 [4.19 [2.76 |2.83 |3.58 |3.67 [3.96 [3.99 [3.69 [4.22 |4.11 |4.68 |4.05
S460101| B E#ET (BE) At E&# d| 2|69 |41 [422]423]3.49(3.29 [3.95[3.98 [4.124.173.83 |4.12 [3.90 |4.63 [4.27
S460102F3+—JL I =+ m—ep| B | 4 | 186|125 [4.43 [4.43 (359 |4.18 |4.27 |4.38 [452 [4.44 [4.37 |4.60 |4.48 |4.51 |4.61
S460103|wxosrresnno—r [T+ m—ep| M| 3| 21 | 18 |450(4.39 [3.61 [4.11 [4.39 |4.56 |4.50 |4.50 |4.56 |4.56 [4.50 |5.00 |4.56
S460104 7— R R A MG [T+ m—en| £ 4 | 66 | 57 |4.46 |4.33[3.12[3.46 [3.70 |4.14 |4.37 |4.40 [4.30 [4.04 [4.37 [4.47 |4.46
S460105 Fi i E IR N £ | 3[198] 76 [4.03]3.91 |2.91 [3.08 [3.29 [3.47 [3.83|3.93 |3.89 |3.41 [3.82 [4.26 [3.81
S460106| XY UT7 T H A FIER k| 1 ]203]161 [4.13[4.09 [2.39 [2.92 |3.29 |3.61 [3.93 [3.87 [3.86 [4.03 |4.07 |4.37 |3.91
S460107|4~L—savxyv—7 ) |5 B k| 4] 6 | 5 [3.80[3.80[2.603.20]3.20 |4.20 |4.40 [4.60 [4.60 [4.40 |4.20 |4.20 |4.40
S460108lcsxz1v v a1 ts) |88 FBAR x| 4] 3| 2 |500]5.00]5.00|5.00 [5.00 [5.00 |5.00|5.00|5.00 |5.00 [5.00 [5.00 |5.00
S460109IBIET R AL i N K| 1] 1 -l -1-1-1-/-1l-1-1-1-1-1-1-1-
S460110| 4 £ T 24554 SR % | 1]150]134 |457 (451 [3.48|3.94 |4.08 |4.20 [4.50 [4.39 [4.47 |4.40 |4.48 |4.66 |4.57
S460111IBEREIRIAVE |2N 4 B | 2 [142]100 |4.31 |4.23 |2.74 |3.43 |3.66 [3.89 [4.25 |4.18 |4.16 |4.06 |4.21 [4.15 [4.26
S460112 X v 7T HAUES |28 # K| 41167111 [418[4.17[2.73 357 |3.77 13.97 |4.25 [4.12 [4.16 [4.26 |4.21 |4.46 |4.14
S460113|svyrrrrmmums cosczsam | 2D H K|l 4] 6 | 6 [417]420(3.33]4.17]4.17 417417 [4.00[4.00 [4.17 |4.17 |4.67 |4.50
S460114ECRRETIL % Al 5] 5 [ 1 [400]4.00]2.00]3.00]2.00|3.00 [4.00 [4.00|4.00|5.00 |4.00 |5.00 [5.00
S460115[{S8EME TS =R Ex Bl 2| 71|66 |405]391]2.71(3.15[3.72 [3.44 [3.89 |3.89 |3.95 |3.79 |3.70 |4.20 [3.95
S460116|vas v rTe=m1 @ |[= Kk EX % | 3] 45| 43 [4.07[4.02[355]3.33]3.77 |3.72 [4.12 [3.98 [3.86 [4.00 |4.00 |4.77 |4.19
S460117| EEET ME E— d| 1] 25| 17 4181429 |2.41 |2.94 [3.47 [4.12 [4.41 |4.41 |4.47 |4.47 |4.00 [3.41 [4.35
S46018 IR EHE(EC-7—R) | A BE— x| 2| 60 | 47 1415 4.15[3.17 |13.66 |4.04 |4.06 |4.13 [4.09 |4.04 |4.28 [4.04 |4.26 |4.32
S460119vsosrresnn co-we KA BE— | 4] 1] 1 [500]5.00(3.004.00]3.00]4.00|5.00 |5.00 [5.00 [5.00 |5.00 |5.00 |5.00
S460120| R EIZ KEF 3ith h| 2| 86| 43 |4.26 |4.02 |2.42 [3.05[3.26 [3.79 |4.14 |4.14 |4.00 |3.84 [3.79 [4.19 |4.10
S460121|w—4 T4 4 (455%) [luA = B3] 4| 2 |350]450]2.00[4.00 [4.00 [4.50 |4.50 |4.50 |4.50 [4.50 [4.00 [3.50 [4.50
S460122vwsvrrg=nn o—r) [IUKR B % | 3] 32|23 [426[426(3.22(4.174.1714.30 |4.35 [4.17 [4.39 |4.48 |4.39 |4.57 |4.48
S460123|v Ao Ak Tmm T e [Z5H BIE | 3| 68|53 |419]4.12]3.55[3.77 [4.06 [4.02 |4.00 |4.02 |3.81 |4.02 [3.87 [4.72 |4.08
S4601 24| [E$RNLIE ELHE EHH BIF #| 2] 15| 12 [400[4.33[2.00]3.834.17 |4.50 [4.50 [4.33 [4.50 |4.50 |4.25 |3.83 |4.55
S460125| 1B ELF TH HAIE £ | 3[126]107 [4.29 |4.25|2.71 [3.28 |3.44 |4.10 [4.30 |4.29 |4.15 [3.94 |4.18 |4.42 [4.27
S460126|vxuArTeEgT (E0) [ B HuE | 3] 81|62 |431]429]3.79(3.55[3.95[4.03 [4.15|4.15|4.08 |4.23 |4.18 [4.79 [4.33
S460127| EET2HBRIES |2 5us k| 3]191] 96 [3.99[3.86 [2.34|3.03]3.18 |3.36 [3.91 [3.85 [3.75 |3.76 | 3.78 | 4.40 |3.89
S460128 4 F54Fr—r v AR | EM HhiE A| 3 [ 142]125 [4.06 [3.98 |2.96 |3.54 |3.73 [3.80 [3.85 [3.81 [3.97 |3.86 |3.94 |4.32 [4.01
S460129vxuArTeEmT (E0) | B HuE % | 3]|114] 86 [4.19[4.15[3.17[3.72]3.88 |4.05 |4.13 [4.12 [4.00 [4.06 |4.03 |4.49 |4.28




T 305 EE £ £ BORERT
HEERS sk HE4A A | B IR | meas| masn| SRR51| 55R92| 52 R93| 5RR%5| s3R6| SRR 7| BR8] SR RT0| sarsio] sp 1) sgra2] sarsia) sr9ia
S370101|47orsrsmruEs(s) [{RE R Bl 4] 27|24 |3.96]4.04]3.29(3.29 [3.58 [3.75 [3.88 [3.79 |3.71 |3.79 |3.88 |4.79 [3.96
S370102| 7045 s puEE D [iE L K B | 3[130[122 [4.13]4.01]2.98 [2.91 [3.77 [3.43 [3.88 |3.91 |3.49 |3.66 |4.00 |4.69 [4.32
S370103|1ERL S LIERGIE |AH 2 x| 1] 89|76 |4.074.00[2.8813.07 [3.41 [4.20 |3.91 [3.91 [4.05 |3.99 [4.07 |4.52 |4.09
S370104| it siEmpE(s) (AR ME x| 2] 5| 5 |480]5.00]3.60|4.40 [3.80 [4.60 |4.80 |5.00 |5.00 |5.00 [4.80 [5.00 |4.60
S370105| T2 =75 7+UL 2 |F FHE B | 3] 35|26 |3.85]4.12(3.15[3.58 [4.04 [4.00 [4.12 |4.00 |4.12 [4.12 [3.81 [4.54 |4.08
S370106| F—4~R—2 2 FL(S) |[BH Sl | 3] 25| 21 410]3.65]2.33 [2.95 [3.24 [3.76 [3.48 |3.52 |3.76 |3.57 |4.00 |4.67 [3.86
S370107| F—AR—R AT L |BH Sit | 4 [ 114104 |3.88 |3.79 |2.57 |3.22 [3.58 [3.85 |3.69 |3.72 |3.88 |3.74 [3.86 [4.69 |4.00
$370108| 4> a—xyrFnsSu s | AR &E Bl 42617 412]3.94(3.94 [3.56 [4.24 [4.12 |4.29 |4.06 |3.29 |4.12 [3.65 [4.76 |3.94
$370109a 1 —A7=A—a> | #458 &T A| 2] 55|47 [404]4.02]3.26 |3.48 |3.51 [3.47 [4.09 [3.87 |3.81 |3.81 |3.72 |4.57 [4.06
S3701101E#HREXa)T14(S) |HE Fth A 3| 29|28 1436 |4.25[2.82 |13.18 |3.64 |4.33 |4.29 [4.25 |4.25 |4.21 [4.29 |4.68 |4.43
S370111|1EHRExX2) T+ HE 2t Bl 4] 26|24 |425]4.26]2.50[2.04[2.63 [4.46 [4.29 |4.25 |4.33 |3.67 |4.08 |4.17 [4.25
S370112| ERRFES I T L HE —kK d| 1| 25| 24 |4.33]4.30 |3.08 [3.29 [3.54 [4.17 |4.21 |4.04 |4.04 |4.17 [3.46 [4.25 |4.08
S370113ATTrorsRUES [Bast BEF| Al 3 [ 110] 94 |4.043.99 [3.23 [3.34 [3.95 |3.78 |3.79 |3.59 [3.51 [3.81 [3.65 [4.65 |4.12
$370114] 538 & 81| Hast BT K| 1] 43 |37 [4.11]3.89]2.68 |3.05 |3.41 [3.95 [3.92 [3.89 |3.81 |4.05 |3.30 [4.38 [3.84
NEEPA 2l —= h| 2|96 |84 |3.95]3.82]2.30[2.92[3.26 [3.67 [3.58 |3.47 |3.71 |3.53 |3.28 [4.39 [3.69
$370116|23 /815 (S) 2l —= | 3] 18|17 |418]4.18]2.71 |3.65 [3.59 [4.00 [4.00 |3.88 |4.12 |4.06 [3.94 [4.71 |4.24
S3T0U T ERIE(S) o B— B | 3] 28|26 |404]404]2.69[3.23[3.50[3.92(4.15]4.15]3.88|4.19 [4.12 [4.69 [4.23
S3701 18/ i E R o 28— B | 5 [127[102 |3.88 |3.88 |2.75 [2.90 [3.45 [3.58 |3.92 |3.76 |3.66 |4.11 [3.85 [4.61 [4.00
S370119\V 7Y PHRERES [#1)I] Fl8 B 1| 47|41 |415]4.12]3.93[3.39 [4.24 [3.88 [4.35 |4.24 |3.46 |4.17 |3.73 |4.83 [4.35
$3701200 4 43I R Bt —A | k| 2] 41|35 [383]3.66]2.71 |2.76 [3.03 [3.18 [3.69 |3.34 |3.57 |3.60 [3.29 |4.57 [3.57
S370121|% ¥ y7FHso S (s) [Ben — A | M| 4| 27| 26 |3.85(3.85 [2.81 [3.23 [3.65 [3.54 |3.96 |3.92 |3.73 |3.92 [4.00 [4.88 |4.04
S370122| ¥ v 7T HALEE (KU BT | 3 [137[129 |3.77 13.73 |2.52 |2.84 [3.38 [3.23 |3.64 |3.49 |3.48 |3.80 [3.65 [4.66 |3.68
S3701237nssz s pumEn(s) |BE RiE B | 3| 27|27 |404]3.89|2.78 |3.15 [3.59 [3.30 [3.59 |3.70 |3.33 |3.41 |3.78 |4.48 [4.15
S310124 AT4 7 THALEE [BE XiE | 3|56 |43 |4.00]4.024.26 [3.21 [3.35 [3.77 3.79 |3.60 |3.44 |4.07 [3.98 [4.74 |4.30
$370125( A4 R EIEHRNIE i Ay [ B 3] 33|28 [4.21[414(2.823.1113.86 |4.11 [4.14 [4.11 [4.21 [4.04 |4.04 |4.32 |4.14
S370126| hA REEHRNE(S) [l whY | Bl 4| 16 | 15 |4.20[4.13 [2.47 [3.73 [3.80 |4.00 |4.27 |4.13 [4.13 [4.20 [3.73 |4.60 |4.29
S399107| X AlE AR 2 (%iE) JEE K ARl 1 [132]125 |3.95[3.85 |2.56 |2.42 [3.37 |3.12 [3.10 |3.30 | 3.18 |3.66 |3.77 |4.66 [3.37
S399108| B alEDER2(S) (%) AL K& AR 1] 27125 |404(3.76 |2.44 |2.32 [3.44 |3.00 | 3.16 [3.40 |3.52 | 3.64 [3.76 |4.92 | 3.40
S470101|5H &4 =/ % K| 3] 45| 42 [4.00([3.83 (252 2.88 |3.69 |3.79 |3.86 [3.71 [4.02 [3.90 |3.62 |4.55 |3.90
S470102| 9S4 H 2 %% [{BE iR Bl 2| 3725 [412]3.92]2.80[2.92 [3.36 [3.68 [4.12 |4.04 |3.88 |3.96 [3.92 [4.36 [4.12
S470103| Bt ER R (S) FHR B | 3| 34|33 |403]394]2.61[2.21[3.15[3.213.703.48 |3.70 |3.48 [3.82 [4.64 |3.88
S470104 $FBEHE % (S) HE KEd A 2| 27|24 |3.883.96[2.83]3.08 |3.33 |3.54 |3.67 [3.63 3.67 |3.67 [3.71 |4.88 |13.79
S470105 325 EIE HE KEd A 4| 76 |68 |3.973.96[2.63]2.913.57[3.7213.66 [3.72 |3.79 |3.72 [3.63 |4.72 |3.82
S470106| 2 EE T — 24T XE BS A 3| 37|28 |4.003.89 [2.86 |3.36 |3.44 |4.04 |3.96 [4.07 |4.00 |3.96 [3.86 |4.18 |3.96
S470107|S 2R F L T2 KE BE Bl 4] 27|23 |395]3.90(2.24 [3.10 [3.33 [3.81 |3.86 |3.86 |3.95 [3.90 [3.81 [3.95 |3.90
S470108[fF & (S) &R 1EH | 2| 36|33 [379]3.70]2.12 |2.67 [2.76 [2.79 [3.58 |3.70 |3.55 |3.47 |3.73 |4.79 [3.73
S470109 IR EEE R IERR | 3 [135] 60 [3.73]3.732.05 |2.53 [2.92 [3.07 [3.43 |3.40 |3.53 |3.53 |3.30 [4.72 [3.62
S470110[5t & T EK s Al 1] 11 ] 6 [400]4.00]3.67]2.83]2.67[3.50[4.00[4.00]3.33]4.00]3.17 [4.17 [4.00
S470113 AT 47 L3t ERETGES B | 4| 42|35 [423]4.29]3.20(3.26 [3.82 [4.20 [4.20 |4.11 |4.20 |4.20 |4.11 |4.66 [4.29
S470114S 2T L fB AR EiE mihE| B| 3] 5749 [412]4.16]2.78(3.20 [3.75 [4.10 [4.04 |3.88 |4.04 |3.88 |3.79 |4.67 [4.13
S470115|v— 4 T4 —F |2A | 2| 58|35 |424]4.00]2.12 [2.44 [2.88 [3.47 |4.03 |4.06 |4.03 |3.52 [3.91 [4.53 [4.20
S470116lta—<o (87— it =5 | 3] 61|56 [402]391]2.39[2.82[3.21[3.36[3.913.80]3.98 |3.52 |3.87 |4.54 [4.13
S470117|ea—<r 1o 59—2(9) |hft =& «| 4] 16| 16 |413]4.19]2.81 [3.88 [3.81 [3.69[4.13]3.94 |4.13 [4.19 [4.31 [4.56 |4.38
S470118| Btk WE —K Bl 2| 71|66 |368]356|2.38[2.39[3.14[3.50(3.14]2.60|2.88 [2.98 [2.92 [4.44 |3.18
S470119| Btk WE —K Bl 4|66 |66 |376]367]291[2.76[3.34[3.70(3.53]3.11]3.1513.48 [3.28 [4.58 [3.41
S470120 £ ET2HBRESE  |BE —K d| 5| 42 | 41 422412251 [3.08 [3.27 [3.54 [4.15 |3.95 |4.05 |4.22 |4.00 [4.41 [4.12
S470121|3 E 1 —424%R Hast 27| B 3 | 144]136 [3.87[3.63|2.57 |2.49 |3.19 [3.39 [3.24 [3.06 |3.53 |3.32 |3.40 [4.58 [3.60
S470122| 5t &% (S) Bl —= d| 3] 23|21 |3.90]3.62]2.48[2.81[3.14[3.33[3.19]2.81 |3.62 |2.90 [2.43 [4.62 [2.81
S470123 ARL—F4L 5 2T L | B— B | 5| 43|30 [400]3.93]2.93(3.40[4.17[3.67[4.13]3.5713.93]4.17(3.63 [4.33 [4.13
S470124lyory PR yEE (S) |§0)I] F8h h| 2| 27 | 25 |4.36]4.323.76 |3.52 |4.24 [4.12 [4.40 |4.44 |3.84 |4.20 |3.96 [4.79 [4.32
S470125)4<~L—F4o 5o 25 4(s) [#AA B Bl 41212 |333]3.17]1.83|2.67 [2.58 [2.42 |3.25 |3.08 |3.67 |3.00 [3.08 [4.75 |3.50
S470126| v ) 7TFHa1(S) B —A | B[ 5] 28| 27 13.93(3.85 [2.04 [2.56 [2.85 |3.48 |4.00 |4.00 |3.89 |4.04 [3.96 [4.54 |4.00
S470127| 3 BIEHRIATLER | R4 — A | X | 3| 69 [ 57 |4.023.96 [3.25 |3.42 |3.89 |3.61 |3.91 [3.81 [3.79 |3.91 [4.02 |4.81 |4.05
S470128 F v YT T HA ML =T B | 5 (149138 |3.83]3.74 |2.38 |2.39 [2.76 [3.46 [3.69 |3.65 |3.72 |3.36 |3.59 |4.27 [3.76
S4701291BRAT 4T (S) BEE *xE A 3| 17|16 |3.753.67 [2.7513.31 |3.81 [3.50 |3.75 |3.75 | 3.56 | 3.69 [4.00 |4.69 | 3.81
S470130| T4 4 L ER RS (B R KhE Bl 4| 64|52 |412]4.06|3.47[3.12[3.84 [3.453.88 |3.90 |3.57 |3.86 [3.61 [4.57 [4.08
S470131|¥34—)L 1 BE XiE k| 3| 131]118 [4.25[4.20 [3.64 |3.86 |4.23 |4.28 [4.40 [4.37 [4.19 |4.39 |4.11 |4.43 |4.37
S470132F34—IL T (S) BE X(E k| 3] 31|31 [439[442(3.814.13]4.234.194.42[4.35[4.19 |4.48 |4.35 |4.71 |4.58
SA70133 HIBBH|ITHEED (BE KiE K| 4 [ 131117 [4.26 |4.26 |3.61 [3.91 |4.26 |4.23 [4.38 |4.32 |4.16 [4.39 |4.09 |4.41 [4.42
S470134¥IBEHRTILEEN(S) [BE XE K| 4] 31|31 [429[435[4.00]3.87]4.324.16 [4.45 [4.32 [4.13 |4.48 |4.32 |4.65 |4.55
S470135a Fa—42iEiR(S) [l whY | Bl 4| 27| 25 [4.17]4.04 [2.20 [2.96 [3.44 |3.88 |3.96 |3.88 |4.04 |4.04 [3.96 [4.80 |4.20




T 305 EE £ £ BRERSIZH
HEERS sk HE4A A | B IR | meas| masn| SRR51| 55R92| 52 R93| 5RR%5| s3R6| SRR 7| BR8] SR RT0| sarsio] sp 1) sgra2] sarsia) sr9ia
$380101| AHrO=H R Sk = B | 3| 63|56 |404]4.05]2.79|2.75[3.55 [4.05|4.04 |4.05|3.98 |3.89 [3.64 [4.66 [4.18
S380102IBIE RS ER T (%) (44 = Bl 4] 1|1 [400]3.00]3.00|4.00[1.00[3.003.00]4.00|4.00 |4.00 [3.00 [3.003.00
S380103MIBILZE LESE |SF = K| 3 [128]113 [4.14 |4.15]2.86 [2.83 |3.51 |4.17 [4.02 |3.84 |3.76 [3.76 |3.19 |4.54 [3.83
S380104IB 1815 T = BEE TFE | 2| 53|50 |412]4.10]2.84 [3.16 [3.54 [3.96 |4.24 |4.22 |4.24 |3.88 [4.08 [3.82 [4.24
S380105| fEHE L B8HFH B2 | A 3] 9 |85 [3.93]3.823.21[3.20]3.79 [3.34 |3.81 |3.68 [3.74 |3.79 |13.35 [4.26 |3.92
$380106| 5 KH—~ o Tik BigE Bl 4] 79|75 |433]4.39(3.434.08 [4.47 |4.614.79 |4.67 |457 |4.67 [4.49 [4.67 |458
S380107|4vs—Fsarrazazr—voom |INED KIE| B | 4| 48 | 45 (424|418 [3.07]3.60 [3.78 |4.13 |4.16 [4.18 |4.07 |4.22 [4.02 |4.09 |4.22
$380108|/ \ (A FI Rl INES K&K 2] 24| 19 [421]416]2.6813.84 [3.74 [4.05 [4.11 [4.11 |4.11 |4.11 |3.89 [4.11 [4.00
S380109| i T EHIEE BAR BE— x| 3] 66|60 |365]337]1.82[2.07[2.85([2.633.183.2713.40]3.49[3.13 [4.42 [3.25
S380110[ i T EHIE BAR BE— «| 4|59 |50 |354]3.28]2.36[1.90[2.54 [2.80 [2.94 |3.00]3.22 |3.24 |3.30 [4.36 [3.22
S380111| & EMEEE i EiZ K[ 3]17] 7 [400[4.00]250[2.17 |2.67 |4.00 [4.33 |4.00 |3.83 [4.00 |4.17 |3.67 [4.17
S380112IB1E A 8ES A A & Bl 1] 1210 [4.30]4.20]3.00 |3.60 [3.80 [4.40 [4.20 |4.10 |4.20 |4.10 |4.10 |3.50 [4.33
S380113|IBE A EES A A & Bl 2| 49|32 |394]397(3.59 [3.09 [3.47 [3.66 |3.88 |3.63 |3.56 |3.78 [3.53 [4.66 |3.88
$380114+F3+—JL I A &K | 5 [ 128109 |4.23 |4.24 |2.55 |3.70 [3.73 [4.06 [4.36 |4.27 |4.21 |4.34 |4.33 |4.81 [4.53
S380115 HIBIFHM R T4 Fh £XE K| 2| 34|25 1408 4.12 [2.56 |3.76 |4.28 |4.08 |4.28 |4.04 |4.17 |3.96 [3.88 |4.28 |4.16
S380116/35 T SEER EE | 3| 63|59 |3.93]3.84]2.25](2.61[2.78[3.44(3.69]3.543.59 |3.53 |3.54 [4.22 [3.71
S380117)35 T SEER pEE «| 4| 6767 [410]4.12]2.01[3.17[3.40[3.75 |4.15 |4.04 |4.01 |3.96 [4.03 [4.67 [4.20
S380118| &L R | 1| 14| 10 [4.00]3.90 |2.30 [2.70 [3.10 [3.90 |4.20 |3.90 |3.80 |3.80 [3.30 [3.40 |4.10
S380119 v ) 7T HAUEE & Bt | 2 [ 128120 |4.06 |4.10 |2.87 |2.45 [3.37 [3.38 [3.76 |3.63 |3.29 |3.44 |3.86 |4.08 [3.76
S380120IBIER S T2EERT | EHt K| 3 ]119]115 [4.08 [4.03 [4.02 |3.76 |4.11 |3.93 [3.88 |3.83 [3.57 [4.02 |3.73 |4.85 |3.89
$380121| 42 5—Fvarnazazr—savm [Marc Emil Bevers| A< | 3 | 16 | 14 |4.07 |3.86 [2.64 [3.00 [2.92 |3.50 |4.14 |4.07 |4.21 |4.50 [4.07 [3.93 |4.14
$380122| 4o s5—Fvarnazazr—savm [Marc Emil Bevers| AR | 4 | 26 | 22 |3.82 |4.05 [2.27 [3.55 [3.64 [4.00 |4.18 |4.14 |4.00 |4.14 [4.05 [4.00 |4.18
$380123|0> 2r55 av v oAk [1RIR BLE | 1| 25| 23 |4.22]4.09|2.83 [2.96 [3.52 [3.78 |4.04 |4.00 |3.83 |3.91 [3.83 [3.43 [4.30
S380124|FF5t T RiR AL x| 3| 34|28 |3573.50[3.75|3.54 [4.04 |3.39 |3.50 [3.39 |2.82 |3.57 [2.93 |4.50 | 3.50
$380125|+~5—Fvarnazazr—savm |Devon Mcnare| B | 3 | 15 | 14 |4.43 (414 [2.29 [3.57 [3.64 [4.21 |4.43 |4.36 |4.43 |4.50 [4.14 [4.14 |4.50
S380126|r~5—Fs a3 nazazr—savm |Devon Mcnare| B | 4 | 26 | 24 1413 14.08 [2.13 [3.25 [3.33 |4.21 |4.33 |4.33 |4.33 [4.42 [4.38 [4.25 |4.42
S399145| B T AIEDERE2 (521E) (LU 135 K| 1 ]144]105 [3.90 [3.83 [2.49 [2.50 |3.09 |3.46 [3.51 [3.43 [3.40 [3.79 |3.71 |4.64 |3.59
S480101| & f= FhiE —a) d | 3 [ 7371 |417]4.1113.06 [3.03 [3.79 [4.01 [4.07 |3.99 |4.01 |3.80 [3.76 [4.21 |4.04
S480102IBIE L £ BRI (%) (&4 = Bl 1] 1] 1 |400]3.00]|3.00|3.00[1.00 [3.004.00]3.00|4.00 |[4.00 [3.00 [3.00 [4.00
S480103] 1o s—Fsatnazazr—sar | Sk =E B | 3|38 |28 |418]4.14]2.86[2.82 [3.46 [4.32 [4.21 |4.11 |4.11 |4.36 |4.18 [4.04 [4.21
S480104 T RILE—FIBERZ| S = K| 2| 47 | 34 1421 |4.00 [2.56 |3.12 |3.76 |3.79 |4.26 |4.03 |4.03 |4.09 [3.58 |3.71 |4.09
S480105(IBIET AR BB FE K| 2] 39|22 [423[4142.18]3.09]3.50 |4.00 [4.27 [4.32 [4.32 [4.27 |4.27 |3.90 |4.27
S480106|# ¥HME 2 B8HFH BEoN | M| 2] 93|86 [3.7613.73(3.09 |2.74 |3.44 [3.22 |3.64 |3.46 [3.64 |3.38 |3.23 [4.32 |3.62
S480107| A Bl (4FE%) INES REG | K| 1] 1 1 14.00 [4.00 |2.00 [4.00 [4.00 |4.00 [4.00 |4.00 |4.00 [4.00 |4.00 |4.00 [4.00
S480108 PRTR% A E— Bl 2| 8| 6 [400]383]2.00]2.50[2.83[3.33(3.83]3.83]3.8313.50(3.33 [2.50 [3.83
S480110| 4N EIFR A #E3% EEEN B | 3|36 |33 |418]4.03]252[2.94[3.27[3.73[4.42 |4.36 |4.12 |4.33 |4.18 |3.82 [4.36
S480111|#FMIE BiE & Al 4| 7| 4 1400/4.00](1.75]1.75 [1.75 |3.25 |4.25 [4.00 |4.00 |4.50 [4.25 |2.75 |4.25
S480112IBiER e T2 meET & & | 3 [130[106 |4.31 |4.30 |2.89 [3.72 [3.76 [4.00 [4.34 |4.25 |4.30 |4.36 |4.28 |4.57 [4.56
S480113 7O HhEE A & | 5 [129]103 |4.30 |4.22 |2.66 |3.72 [3.76 [4.16 [4.40 |4.30 |4.25 |4.36 |4.35 [4.57 [4.51
S480114| iz f= FE {ath | 1] 30|25 |432]4.36]2.84 |3.08 [3.84 [4.16 [4.32 |4.32 |4.36 |4.20 |3.84 |4.48 [4.36
S4801 15 [S A AEELUVEE [Hh 2 7k | 3 ]165]158 [4.11 [4.03 [3.07 [2.92 |3.65 |3.58 |3.92 [3.82 [3.92 [3.73 |3.30 |4.09 |3.88
S480116| TR JLE— (L2 I At | 1[50 |47 |370]3.76 |2.78 |2.96 [3.46 [3.43 |3.70 |3.67 |3.67 |3.43 [3.39 [4.15 |3.54
S480117| XY U7 T HA o)l st K| 1 [131]115 [3.82(3.79 |2.41 [2.45 |2.81 |3.05 [3.35 |3.45 |3.35 [3.36 |3.49 |4.37 [3.53
S480118ros—Fsatnazazr—sar1 [Marc Emil Bevers| A | 3 | 23 | 22 |4.23 [4.18 [2.50 [2.91 [3.45 |3.68 |4.09 |4.09 [4.18 [4.18 [3.82 [4.32 |4.05
S480119 o s—Fsatnazazsr—sar1 [Marc Emil Bevers| A | 4 | 19 | 16 [4.00 [4.31 [2.69 [3.50 [3.94 |4.06 |4.31 |4.13 |4.44 |4.50 [4.31 |3.94 |4.47
S480120|r~5—Fv st nazazr—sav1 |Devon Mcnare| B | 3 | 19 | 19 |4.21 [4.21 [2.56 [3.06 [3.22 |4.05 |4.16 |3.89 [4.11 [4.11 [4.11 |4.47 | 4.11
S480121| o 5—Fv a3 nazazr—sav1 |Devon Mcnare| B | 4 | 23 | 20 |4.00 [4.10 [2.50 [3.00 [3.37 |3.90 |4.25 |4.15 [4.10 [4.25 [3.95 [4.40 |4.35
5480122 238 & &Il Wi tE5 Bl 2| 2118 |417]4.06|2.61 [2.78 [3.35 [3.89 |4.06 |4.06 |4.06 |3.67 [3.17 [3.22 |3.94
S480123| BRIET S g {E5 k| 4] 10] 8 [413[414[3.00/4.13]4.13]4.25[4.38 [4.25 [4.00 [4.00 |3.88 |4.13 |4.38
S480124IB1E R & Rl =8 {E B | 2 [100] 91 [3.70]3.69 |3.34 |2.55 [3.21 [3.23 [3.49 |3.16 |3.13 |3.34 |3.35 [4.12 [3.43




FRI0FEERE BIETHAVEH
HEERS sk HE4A A | B IR | meas| masn| SRR51| 55R92| 52 R93| 5RR%5| s3R6| SRR 7| BR8] SR RT0| sarsio] sp 1) sgra2] sarsia) sr9ia
S390101[ M ER NHE Ez (A 3| 49| 45 |4.24 [4.09 [3.22 [3.00 [3.52 |3.68 |4.07 |4.13 |4.07 [3.87 [3.86 [4.61 |4.12
$390102 ORI TFH A MNH Ez |AB 4| 28| 25 |3.92(3.88 [2.44 [2.50 [2.68 |3.28 |4.04 |4.04 |4.08 |3.60 [3.92 [4.40 [4.04
$390103|F#s 1 (Fossr) |RHA E2  [K 3| 60| 53 |4.09(3.98 [3.43 [3.42 [3.47 |3.66 |4.09 |3.79 |3.57 |3.94 [4.21 [4.68 |4.28
S390104 FH A 8K 1 (2R [=m 2% 7k 1| 68 60 [3.98 [4.10]4.53 |4.10 |4.20 [4.30 [4.33 [3.93 |3.23 |4.12 |3.93 |4.54 [4.20
S390105| ZE s 245t EE 3% 7k 3| 68| 63 |4.13[4.05[2.89 [3.49 [3.79 |3.86 |4.11 |3.97 [3.90 [3.98 [4.14 [4.49 |4.29
S390106| ¥ Y UFTHAVEE /My = A 4| 124/ 101 |4.00 |3.96 [2.35 [3.08 [3.52 [3.72 |3.94 |3.90 |3.82 [4.00 [4.00 [4.56 |3.94
S390107|# T REET 1> INRR FR A 1] 23] 17 [459 |4.53 |2.88 |3.76 |3.88 [4.41 [4.53 |4.41 |4.29 |4.53 |4.41 |4.24 [4.65
S390108 ZADMERVEE (e Fid |B 1] 25[ 22 [3.953.733.05 |3.64 [3.91 [4.09 [4.18 [4.23 |4.05 |4.00 |4.23 [4.00 [3.95
S300109| £ ET2BRIESE  |ME EE  |A 5| 94| 65 |3.86 |3.77 |1.68 [2.55 [2.76 |3.46 |3.98 |3.98 |4.12 [3.82 [4.06 [4.02 |4.00
S390110F3I+—/LB mE FiE |k 3| 126]114 |4.14 |4.09 [3.47 [3.85 [4.09 |4.14 |4.33 |4.25 |4.20 [4.37 [4.43 [4.70 |4.49
S3901 11| FETFH A EE Hoh & K 3| 141]134 |4.19 |4.17 |4.04 [3.54 [3.93 |4.01 |4.13 |3.87 [3.60 [3.93 [4.11 [4.50 |4.36
S390112| FH A £ EEE £ |A 1] 106] 88 [4.05 [4.06 |4.36 |3.57 |4.15 [4.25 [4.18 [4.15 |3.45 |4.10 |3.94 |4.61 [4.20
$3901135o kz2r—FrH o mums |2 NME  |B 2| 24| 22 1432 14.38 [5.00 [4.24 |4.82 |4.50 |4.50 |4.14 [3.95 [4.23 [4.36 |4.50 |4.41
S390114CAEEE il PN 1] 10[ 8 [4.13]450]2.43]3.132.63 |3.50 [4.13 [4.25 |4.13 |3.88 |4.13 [4.00 [4.50
S390115(fBBAZRETH A1 H#E HX A 3| 42| 36 |4.00(3.92[2.19|2.78 [2.42 |4.28 |3.97 [3.91 |4.08 | 3.58 [3.94 |4.19 |4.20
S399130| BT AIEOEM2 (BlE) [ME EE |k 1] 138[130 [4.12 [4.08 |2.94 |2.93 [3.49 [3.48 [3.73 |3.69 |3.52 |3.99 |3.85 |4.63 [3.82
S490101|h—FTH1> =W —8  |A 2| 32| 23 |3.70 |3.78 [3.43 [2.00 [2.83 |2.48 |3.35 |3.04 |2.74 [2.61 [3.10 [4.48 |3.17
S490102 Swr—S-HA4o 7942 | AT BN | B 3| 86| 66 |4.00[3.98 [2.58 [2.82 [3.41|3.80 |4.11 |3.98 [4.12 [4.02 [4.02 [4.32 |4.15
S490103 FHALZRATA 1 AT BHA |K 1] 127 95 [4.16 |4.15]3.33 |3.66 [3.75 [4.10 [4.30 [4.27 |4.00 |4.26 |4.22 |4.69 [4.39
$490104 £ v )7 FH A Ny = 7K 2| 138/ 116 |4.16 |4.16 [2.17 [2.72 [3.01 | 3.64 |4.01 |3.96 [3.90 [3.91 [4.03 [4.45 |4.15
S490105| YRR H5—F 15) 1% |A 2| 24| 14 14.07 |3.86 [2.07 [1.57 [2.79 |3.14 |4.00 |3.50 |3.64 [3.50 [3.86 [3.79 |3.86
S490106| 1 T EHIEE BZ 388 |A 1] 137[ 125 [3.94 [3.79 |2.35 |2.40 |3.20 |3.58 [4.02 [3.98 |3.98 |4.05 |3.99 |4.03 |4.01
S490107| 7oz HrEE T mE FiE |k 3| 127]103 |4.19 [4.23 [3.05 [3.75 [3.99 [4.21 |4.39 |4.26 |4.22 |4.40 [4.35 [4.54 |4.50
S490108 /> TUTZTHAY Hb & K 3| 104] 88 |3.99 3.94 [3.38 [3.11 [3.80 |3.75 |4.07 |3.95 |3.84 |3.82 [3.69 [4.70 |4.14
S490109 12455 a0 THAV|IEBEE & |B 2| 127/ 104 |4.02 |4.01 [3.66 [3.47 [4.00 |3.95 |4.13 |3.94 |3.83 [4.13 [4.02 [4.43 |4.23
S490110| %€ T2 EEE £ |A 3| 123]109 |4.03 [3.97 [2.36 [3.05 [3.34 | 3.64 |4.05 |4.05 [3.96 [3.92 [3.94 [4.43 |4.16
S4901 11|t &4 E EEEF 2 |K 1] 137[105 [4.10 [4.04 |2.96 |2.54 |3.32 [3.52 [4.02 |3.94 |3.73 |3.97 |4.01 [4.39 [4.05
S490113|CADES 2 M K 3| 136/119 |4.24 [4.13 [2.88 [3.39 |3.77 | 3.56 |4.04 |3.97 |3.85 [4.02 [4.07 |4.58 |4.41
S490114TH A R4CAT  |[=# 18 [K 3| 131]104 |4.05 [4.09 [3.94 [3.66 [3.86 |4.03 |4.07 |3.93 [3.73 [4.14 [4.13 [4.51 |4.26
S490115 F M E H#E HX A 4| 50| 33 14.03 [4.00 |2.33 |2.76 [3.03 |4.33 |4.18 [4.03 |4.06 |3.91 [3.76 |4.24 |4.06




F 5k 304 EE £ 1 BE-EREER
HEERS sk HE4A A | B IR | meas| masn| SRR51| 55R92| 52 R93| 5RR%5| s3R6| SRR 7| BR8] SR RT0| sarsio] sp 1) sgra2] sarsia) sr9ia
$399103| 7557 h1osyvsam | RIE 2 K| 2] 34 ] 26 (396392242246 ]3.38 |4.12 [3.85 [3.65 [3.81 |3.85 |3.54 |4.50 |3.81
$399109| 7557 h1rsyvsaN | KK & K| 2] 34]32 [403[3.91[2.28]259]2.9113.44 [4.06 [4.03 [4.19 [4.134.13 |4.47 |4.22
S399110| BraidHs% KfE =7 Bl 2| 26|26 |3.88]3.88]2.50|2.85 [2.58 [3.46 |3.46 |3.50 |3.65 [3.08 [2.88 [4.31 |3.58
S399111|BUA% FHE —& K| 1] 34]13 [438[431[2.462.85]2.69|3.69 |4.31 [4.31 [4.15 [4.00 |4.23 |4.23 |4.54
$399113| EREEA R B2H Fik Bl 3|16 10 |3.80]3.703.00 [2.10 [2.30 [3.10 |3.90 |3.40 |3.20 |3.40 [3.40 [4.20 |3.60
$399115| EREEA R B2H Fik Bl 4] 13| 9 |433]429]2.89|2.11[1.443.22 456 |3.22 |3.22 |3.56 [3.33 [4.67 |3.78
S399117| Bl FHEH Fih R K| 1] 23|18 14.394.39 [3.11 13.89 |3.61 |4.28 |4.33 [4.22 |4.22 |4.33 [4.00 |4.56 |4.22
$399118|F545F7 a4 yyyam [/NE IEA B | 3|36 |33 [400]4.00]2.67[3.06[3.75 [4.06 [4.06 |3.94 |4.00 |4.16 |4.09 |4.31 [4.06
$399119| EREEA 1R IR TEBE £ 3] 23] 15 [413[407[1.93]2.87]2.673.87 [4.33 [4.33 [4.27 [3.93 |3.87 |4.07 |4.07
$399120( ¥ MY E— B | 3| 34|14 407421229250 [2.36 [3.93 [4.07 |3.86 |4.14 |4.21 |3.86 |4.21 [3.93
S399121|¥ 2 (S) MY E— B3] 2| 2 |500]500]1.00|2.50 [2.00 [4.50 |4.50 |3.50 |3.50 |4.50 [4.50 [5.00 [4.50
S399122[ i IB%E 5% IHWOF | ]| 4| 82 | 67 [3.18[3.03[2.13]2.612.67 |2.64 [2.73 [2.64 [2.55 |2.69 |2.94 |4.60 |2.83
$399123 L EE=E(S) % HOF | ]| 4| 13 | 13 [2.69 (254 [1.46 |1.92 |2.00 |2.00 [1.92 [2.08 [2.23 |2.15 |2.54 |4.85 | 1.85
$399124755F 414251y 21 |Christopher Hewitt| B | 1 | 39 | 26 |3.77 [3.92 [2.54 [3.12 [3.43 | 3.56 |4.08 |3.69 [3.77 [4.08 [3.58 [4.27 |3.96
$399125(7555 mn 424y aw(s) [Michael S. Genung | M | 3 | 21 | 21 |4.71 |4.68 [2.57 [3.19 [3.67 |4.48 |4.38 |4.24 |4.33 |4.43 [4.33 |4.81 |4.33
$399126|755F4hIL 4251y 21 [Michael S. Genung | A | 4 | 37 | 37 |4.11 |3.86 [2.08 [2.78 [3.05 |3.61 |3.86 |3.81 [3.97 [4.00 [3.86 |4.46 |4.06
S399127 = Bl E#% | 3| 113] 81 [434[4182.21263]2.8313.83 [4.15[4.21 [4.25 [3.99 |4.15 |4.45 |4.27
$399128| 7555 hi sy am | KA T B | 33229 |438]421]3.00[3.55[3.72 [4.28 [4.28 |4.03 |4.31 |4.28 |4.21 [4.45 [4.31
S399129 P FERF I HO BE A | 1| 48 | 46 |4.09 |4.04 [3.26 |2.98 |3.60 |3.98 |3.96 [3.67 |3.74 |3.76 [3.48 |4.41 |3.98
S399131|BraidHs &HA E4£ Bl 4| 1110 |350]3.10]2.20 [2.40 [2.00 [3.10 |3.70 |2.90 |3.40 [2.30 [2.90 [4.40 |3.40
$399133 754712 syysam A EhF | B[ 3| 40| 38 |3.95(3.86 [2.61 [2.74 [3.24 |3.76 |3.89 |3.76 |3.82 [3.97 [3.63 [4.32 |3.97
$399134 755742 5yyam A EthF | Bl 5] 75| 75 |4.28 [4.23 [2.87 [3.49 [3.48 |4.08 |4.23 |4.13 [4.20 [4.17 [4.22 |4.60 |4.23
S399136| Bl EL bR E A «| 3] 3532 [419]4.19]2.78 [3.41 [3.45 [4.09 [4.19 |4.19 |4.00 |4.25 |4.09 |4.41 [4.13
$399137|754F4hL 4251y 21 |Christopher Hewitt| B | 5 | 42 | 40 |4.38 |4.10 [2.35 [3.18 [3.88 [4.03 |4.33 |4.00 |4.15 [4.35 [4.00 [4.33 |4.20
$399139 7555 hi A ywsm |ABE HF B | 5| 41|32 |366]3.56(2.06[2.00[2.31[2.69]2.72]2.91]3.38 [3.34 [2.94 [4.31 |3.00
$399141|7545F4h 425y 2w [Alex Brown | K[ 2 | 33 | 32 |3.75|3.78 [1.72 [2.50 [2.81 |3.35 |3.77 |3.94 |4.10 [4.19 [4.19 [4.45 |3.90
$399142|755F4h 4251y 21 [Devon Mcnare| A | 4 | 41 | 28 |4.26 |4.26 [3.19 [3.89 [4.11 |4.48 |4.41 |4.33 |4.26 [4.26 [4.31 |4.58 |4.42
S399144| AEFl Wi Eh x| 3| 33|17 |3.353.35[2.00 |2.53 [2.59 |3.00 |3.29 |3.47 |3.35 |3.12 [3.35 |3.18 |3.35
S499101| 7555 h 1o 5yws v | BER Fib h| 4| 42|38 |413]4.11]3.16 |3.53 [3.61 [3.82 [3.92 |3.97 |3.84 |3.95 [3.81 [4.43 [4.11
S499102 1815 %l BEE TFE Bl 2 [124[115 412 ]4.00]1.97 |2.46 [2.79 [3.35 [3.76 |3.82 |3.97 |3.51 |3.97 [3.94 [3.96
S499104yo—ssn-evrzziv=ruvsn |[AA FHE K| 5] 48 | 43 [4.35[4.28 [3.07 |3.58 |4.40 |4.23 [4.49 [4.33 [4.21 |4.42 |4.47 |3.91 |4.62
$499105| E R {Z i gk IEF k| 3] 15 ] 10 [4.50 [4.00 [2.10 [2.70 |2.00 |3.80 |4.50 [4.30 [4.30 [4.50 |4.50 |4.30 |4.60
S499106| E RS 1% (S) niEE IEF |1 3] 2] 1 [500]5.00][1.00]3.00]4.00]4.00|5.00 [4.00 [4.00 |5.00 |5.00|4.00 |5.00
S499107| Bl EE R Fih R x| 1] 40 | 26 |3.77 |3.65 [2.62 |2.88 |2.65 |3.65 |3.85 [3.46 |3.50 |3.96 [3.04 |4.46 |3.42
S499108| 7557 hnqsyysan [INE ITEA Bl 2|46 | 40 |3.85]3.90|2.75 |3.23 |3.35 [3.78 [3.73 |3.73 |3.85 | 3.88 |3.78 |4.55 [3.93
S499109| EFEEA 1R IR IEBE #| 3] 10] 3 [500]/[467[2.00]2.33]2.00]4.33|5.00|5.00 [4.67 [4.33 |4.67 |3.00 |5.00
S499110/ ¥ MY E— B 3[30] 14 |414]421]2.79(3.29 [3.21 [4.07 [4.36 |4.21 |4.14 |4.14 |3.93 [4.07 [4.21
$499113/x+vy7/sz42 51921 (s) [Jacob Schere | A [ 1 | 29 | 29 14.38 |4.28 [2.55 [2.86 [3.72 [4.21 |4.45 |4.28 |4.31 |4.52 [4.41 |4.76 |4.24
S499114755F4hL 4251y 2w [Jacob Schere | A | 2 | 38 | 36 |4.08 |4.00 [2.58 [2.92 [3.43 [3.72 |4.08 |3.78 |3.97 |4.19 [3.92 [4.47 |4.08
S499115(754F4hL 4251y 2w [Jacob Schere | B | 3 | 54 | 44 |4.05 |4.05 [2.98 [3.48 [3.77 |4.26 |4.16 |4.05 [4.10 [4.24 [4.02 [4.38 |4.17
S499116| IR Bl E#% £ | 3] 96| 76 [4.28[409[2.212.95]2.963.96 |4.08 [4.25 [4.21 [3.91 |4.18 |4.55 |4.24
S499117yo—sn-evrzzvy=rurs1 |HNRZE Zh x| 5| 51 | 44 14.00[4.09 [3.23 13.27 |4.52 |4.30 |4.52 [4.25 |3.80 |4.48 [4.30 |4.64 |4.36
S499118|ExmEE PEROEHE |2 M ] 9] 47|44 [416]4.02]2.84|3.52 |3.80 [4.00 [4.30 [4.16 |4.02 |4.25 |4.09 |4.36 [4.34
S499119 7545712 5yvoan [FA EhF | B 5| 39 | 37 |422 (406 [257[3.00 [3.62 |4.1414.03 |4.03 [4.14 [4.24 [4.17 |4.65 |4.11
S499120|Fl S EL R R E A | 3| 42| 36 |4.28]4.23]2.723.47[3.67 [4.11|4.39 |4.36 |4.39 |4.36 [4.14 [4.61 |4.14
S499121|755F 414251y 2N |Christopher Hewitt| B | 5 | 42 | 32 |4.28 [4.20 [2.56 [2.81 [3.91 |3.69 |4.22 |3.69 [4.06 [4.28 [3.34 |4.66 |4.03
S4991 22| i fiT LR E EH OEF + ] 9] 60|43 [4354.33]2.36 |3.07 |3.70 |3.88 [4.47 [4.37 |4.19 |4.65 |4.35 | 4.28 |4.51
S499123| 75554y [1BE HF B | 5| 34|31 [394]3.76]2.29[2.94 [3.42 [3.42 [3.03 |3.26 |3.84 |3.68 |3.42 |4.68 [3.57
S499124755F4h 4251y 2N [Devon Mcnare| X | 2 | 44 | 40 |4.13 [4.00 [2.13 [2.88 [3.00 |3.58 |3.95 |3.88 [4.05 [4.10 [3.80 [4.33 |3.95
S499125(#2 &%l B (Robo-BE) |¥liE —#% K| 5] 26 | 22 [409[4.18[2.95]3.86 |3.76 |4.00 [4.27 [4.18 [4.23 |4.50 |4.14 |4.23 |4.41
S499126| £ Fl £ Wi Eh K| 4| 45| 27 1415 4.15[2.48 13.07 [2.93 |3.41 |4.04 |3.96 |4.00 |3.52 [3.70 |3.56 | 3.81
S499127| M HH Rl WH fos k| 5| 86 |80 |4.33/4.24 [2.64 13.13|3.63 |3.98 |4.13 [4.10 |4.15 |4.01 [3.96 |4.35 |4.18
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